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Q1) Attempt Any Three of the following in about 100 words each: [15]

a) Draw a character sketch of Skvortsov from the short story, ‘The Beggar’.

b) According to C. Ram Manohar Reddy, what must be done in order to
remove the black money from the economy?

c) What did the nightingale have to do in order to make a red rose bloom?

d) How did Olga help Lashkov to change his attitude towards life?

e) Which are the sectors mentioned in the white paper 2012 as more
vulnerable to the generation of black money?

Q2) Attempt Any Three of the following in about 100 words each: [15]

a) How did the Grameen Bank help to empower women in Bangladesh?

b) Why did Nobel Committee award Nobel prize to Muhammad Yunus and
Grameen Bank?

c) Explain the journey that traveller is making in the poem Up-Hill?

d) Comment on the significance of the title of the poem ‘Stay Calm’.

e) Why did the poet say that tranquility is important?

P.T.O.
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Q3) Attempt Any Two of the following: [20]

a) Ramesh meets Karan, who used to be a classmate at college, after a long
time at a wedding. Write a brief dialogue using greetings and responses
to greetings.

b) Write a brief dialogue between a sales representative of Mobile shop and
the customer.

c) What are the important qualities that  Employer, are looking for in a
group discussion?

d) Develop a group discussion on the topic Environmental Pollution’ by
anticipating five arguments and probable responses to them from the
participants.

Q4) Attempt Any Four of the following : [20]

a) What are the important points the candidate should remember, while
preparing for an interview?

b) Imagine that you are appearing for an interview for the post of Bank
Manager. Write a dialogue between you and the interviewers.

c) What is a presentation? Mention the different kinds of presentation.

d) Write a short note on Interview Techniques.

e) Describe three steps of preparation of presentation skills.

f) Write two expressions each that can be used as opening and concluding
remarks of a presentation.

.


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Q1) A) Fill in the blanks (5 out of 7) : [5]
a) _____ Account is prepared in order to find out Credit Sales.

i) Total Debtors A/c ii) Total Creditors A/c
iii) Statement of Affairs iv) None of the above

b) _____ Account is prepared in order to find out Credit Purchases.
i) Total Debtors A/c ii) Total Creditors A/c
iii) Statement of Affairs iv) None of the above

c) GST stands for _____.
i) Goods and Sales Tax ii) Good as well as State Tax
iii) Goods and Service Tax iv) None of the above

d) Fixed assets are shown in the books at their _____.
i) Cost price ii) Market price
iii) Selling price iv) None of the above

e) An accounting concept according to which all relatively important
and relevant items are disclosed in the financial statements is _____.
i) Materiality ii) Going concern
iii) Accrual concept iv) Matching

P.T.O.
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f) Single Entry System is an _____.
i) Incomplete and scientific
ii) Incomplete and unscientific
iii) Complete and scientific
iv) None of the above

g) In Single Entry System, it is not possible to prepare _____.
i) A Trial Balance
ii) A Trading and Profit and Loss Account
iii) A Receipts and Payments Account
iv) None of the above

B) Match the Pair (5 out of 7) : [5]
Group ‘A’ Group ‘B’

a) Matching concept i) Single Entry Accounting
 Systems

b) Business entity concept ii) First Installment of cash
to partners

c) Profit Sharing Ratio iii) concept states the Record only
those transactions which are
having significant impact on
Business

d) Piece-meal distribution iv) Realization made in parts
is called

e) Pure Surplus Capital v) even the owner of a business is
considered as creditor to the
extent of his capital

f) Materiality Concept vi) In piecemeal distribution
according to surplus capital
method, final deficit of each
partner will be in

g) Prepare only Personal vii) two aspects of a transaction
Accounts are recorded
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Q2) Write Short Notes (Any 2 out of 4) : [10]
a) Benefits of Environmental Accounting.
b) Advantages of Single Entry System of Accounting.
c) Materiality Concept.
d) Going Concern Concept.

Q3) A, B and C were  in Partnership sharing Profits and Losses in the ratio of
5:3:2 respectively. They decided to dissolve the business on 31st December,
2011. On which date their Balance Sheet as follows :
Liabilities Amount Assets Amount

(Rs.) (Rs.)
Creditors 30,000 Plant and Machinery 50,000
Bank Loan 20,000 Stock 24,000
General Reserve 10,000 Investment 60,000
Municipal Taxes 5,000 Debtors 20,000
Capital A/c :

A 50,000
B 21,000
C 18,000

Total 1,54,000 Total 1,54,000

The Assets were realized in Installment as follows :
1st Installment - Rs. 44,000
2nd Installment - Rs. 50,000
3rd Installment - Rs. 60,000
Dissolution Expenses were originally provided for an estimated amount of
Rs. 9,000. Actual Realisation Expenses were Rs. 4,000.
Prepare :
a) The Statement showing Surplus Capital [7]
b) The Statement showing distribution of Cash [8]
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Q4) Shree Vijay keeps his books under Single Entry System. He gives you the
following information relating to the year ending 31st March, 2014: [15]

Summary of Bank Transactions
Dr. Cr.
Particulars Rs. Particulars Rs.
To Balance at Bank 4,350 By Drawing 7,520
To Sundry Debtors 38,400 By Trade Creditors 27,100
To Bills Receivable realized 12,000 By Bills Payable 9,300
To Commission received 1,500 By Wages 12,000
To Cash Sales 8,600 By Salaries 6,500
To Balance c/d 3,350 By Rent & Taxes 4,400

By Insurance 800
By Carriage Inward 250
By Advertising 330

68,200 68,200

Particulars of Other Assets & Liabilities 31st March 31st March
2013 (Rs.) 2014 (Rs.)

Stock in Hand 18,700 23,400
Debtors 12,000 14,000
Creditors 9,000 1,500
Bills Receivable 4,000 5,000
Bills Payable 1,000 200
Outstanding Salaries 600 1,200
Office Furniture 600 600
Office Building 12,000 12,000
A provision of Rs. 1,450 is required for doubtful debts on debtors and
depreciation @ 5% is to be charged on Furniture and Building. There are
outstanding wages Rs. 3,000. Insurance has been prepaid to the extent of
Rs. 250. Legal expenses are outstanding to the extent of Rs. 700.
You are required to prepare Trading & Profit and Loss A/c for the year
ending 31st March, 2014 and Balance Sheet as on 31st March, 2014.





Q1) A) Fill in the Blanks (Any 5) : [5]

i) ________ is a micro economic variable.

(Aggregate Demand, Market Demand, Aggregate supply, Gross
National Product)

ii) _______ is an economic goal.

(Long-run Survival, Welfare maximization, Employee goodwill,
Social responsibility)

iii) Indifference curve is ______ to the origin.

(Parallel, Perpendicular, Concave, Convex)

iv) The demand for salt is ______.

(Elastic, Inelastic, Zero, Maximum)

v) The process of production is managed by ________.

(Capital, Labour, Land, Entrepreneur)

vi) The functional Relationship between the Input and Output are
called _____.

(Saving function, Investment function, Expenditure function,
Production function)
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B) Match the following pairs : [5]

Group 'A' Group 'B'

i) Micro Economics a) Prof. Hicks

ii) Non-economic goals of firm b) Law quality goods

iii) Value and Capital c) Product Pricing

iv) Sir Robert Gifen d) Labour

v) Variable factor of production e) Political power and prestige

Q2) What is Business Economics? Explain the Scope and Importance of Business
Economics. [15]

Q3) Explain the Law of Diminishing Marginal Utility. [15]

Q4) What is Price Elasticity of Demand? Explain the Types of Price Elasticity
of Demand. [15]

Q5) Explain the Law of variable proportions. [15]

Q6) Write Short Notes on (Any Three) : [15]

a) Graphs

b) Consumer surplus

c) Determinants of supply

d) Internal Economies

e) Production function


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr 5) [5]

i) .............. ho gwú_ Am{W©H$ Mb Amho.

(EHw$U _mJUr, ~mOma _mJUr, EHw$U nwadR>m, EHw$U amï´>r` CËnmXZ)

ii) .......... ho EH$ Am{W©H$ Ü ò̀  Amho.

(XrK©H$mbrZ ApñVËd, H$ë`mU A{YH$V_, H$_©Mmar »`mVr_wë`, gm_m{OH$
O~m~Xmar)

iii) g_d¥ËVr dH«$ hm Ama§̂  q~Xþer ........ AgVmo.

(g_m§Va, b§~, A§VJmo©b, ~{hd©H«$)

iv) _rR>mMr _mJUr ............ Amho.

(bd{MH$, Abd{MH$, ewÝ`, OmñVrV OmñV)

v) CËnmXZmMr à{H«$`m ................ Ûmao ì`dñWm{nV Ho$br OmVo.

(^m§S>db, l_, O_rZ, g§̀ moOH$)

vi) AmXmZ àXmZmVrb \$bZmË_H$ g§~§Ymbm ............ Ago åhUVmV.

(~MV \$bZ, Jw§VdUwH$ \$bZ, IM© \$bZ, CËnmXZ \$bZ)

3 P.T.O.
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~) `mo½` OmoS>çm bmdm. [5]

JQ> "A' JQ> "~'

i) gwú_ AW©emñÌ A) àmo. {hŠg

ii) CÚmoJ g§ñWoMr Am{W©Ho$Va Ü ò̀ ~) {ZîH¥$ï> XOm©À`m dñVw

iii) _wë` Am{U ^m§S>db H$) dñVwMr qH$_V {ZpíMVr

iv) ga am°~Q>© {J\o$Z S>) l_

v) CËnmXZmVrb ~XbVm KQ>H$ B) amOH$s` gÎmm d à{Vð>m

àíZ àíZ àíZ àíZ àíZ 2) ì`mdgm{`H$ AW©emó åhUOo H$m`? ì`mdgm{`H$ AW©emómMr ì`már d _hËd ñnï> H$am.[15]

àíZ àíZ àíZ àíZ àíZ 3) KQ>Ë`m gr_m§V Cn`mo{JVoMm {Z`_ ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 4) _mJUrMr qH$_V bd{MH$Vm åhUOo H$m`? _mJUrÀ`m qH$_V bd{MH$VoMo àH$ma ñnï> H$am.[15]

àíZ àíZ àíZ àíZ àíZ 5) ~XbË`m à_mUmMm {Z`_ ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 6) Q>rnm {bhm. (H$moUË`mhr VrZ) [15]

A) AmboI

~) Cn^moŠË`mMo g§Vmofm{YŠ`

H$) nwadR>çmMo {ZYm©aH$ KQ>H$

S>) A§VJ©V ~MVr

B) CËnmXZ \$bZ


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Q1)A Answer the following multiple choice questions by selecting correct
option. (any five): [1 each]

i) How much simple interest earned on H10,000 at 10% p.a. for 3
years?

a) 100 b) 300

c) 1000 d) 3000

ii) When the series of payment is equal then it is called as ______.

a) perpetuity b) immediate annuity

c) simple annuity d) annuity due

iii) If the face value and market value are equal then it is called as
______.

a) Bonus b) Dividend

c) at Par d) Net Asset Value (NAV)

iv) The market value of H100 share is H140 share, Mr. Akash buys
such 300 shares, find his investment.

a) H 30,000 b) H 40,000

c) H 42,000 d) H 14,000

v) If population is homogeneous then which sampling method is better
for selecting sample.

a) Systematic b) Stratified

c) two-stage d) Simple Random Sampling (SRS)

P.T.O.
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vi) Find mode of the following data:

16, 5, 10, 8, 10, 8, 12, 8, 13.

a) 10 b) 12

c) 8 d) 16

vii) Find standard-deviation (s.d.) of the following data:

(3, 3, 3, 3, 3).

a) 3 b) 5

c) 0 d) 15

b) State whether the following statements are true or false (any five): [1 each]

i) When interest is calculated on the amount in the previous year, it is called
as compound interest.

ii) When the payments are made at the end of each period such an annuity
is called perpetuity.

iii) The dividend which is declared between two annual general meetings is
known as interim dividend.

iv) The N.A.V. represents market value of a unit of the fund.

v) The entire population is divided into several homogeneous groups called
as strata.

vi) If each value in a data set of observations is doubled, then median of the
new series is not changed.

vii) If each value in a data set of observations is doubled, then variance of
the new series is also doubled.

Q2) Attempt any four of the following: [4×5=20]

a) Define the following terms:

Principal, Term, Amount, EMI, Present value.

b) What sum will amount to H 3296 in 4 months at 9% p.a. on simple
interest?

c) A machine depreciates each year by 10% of its value at the begining of
the year, at the end of the 4th year its value is H 65,610. Find its original
cost.

d) Find the amount of H 800 annuity payable quarterly for 3 years at 16% p.a.
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e) Find the present value of immediate annuity of H 67 per month for 3
years at 8% p.a.

f) Calculate EMI for H 2,00,000 at 5% flat rate over 10 years.

Q3) Attempt any two of the following: [2×5=10]

a) What is dividend? Explain annual dividend and interim dividend.

b) A trading company pays dividend at 7%. What is the market value of its
stock so that, there may be 6% net income after giving income tax at 6%.

c) If NAV was H144 at the end of the year with 12.5% increases during the
year. Find NAV at the begining of the year.

Q4) Attempt any two of the following: [2×5=10]

a) Explain the procedure fo drawing SRSWR and SRSWOR, with an
illustration.

b) State the advantages of sampling over census.

c) In a population of size N=8, the observations were 2, 4, 7, 9, 11, 0, 25,
14. Draw all possible SRSWOR of size 2.

Q5) Attempt any four of the following: [4×5=20]

a) Following is a frequency distribution of 100 shops according to daily
sales in a super market on a particular day.

Daily sales 10-20 20-30 30-40 40-50 50-60 60 and above

(in’000 H)

No.of shops 12 27 39 - 7 5

Find i) The missing frequency.

ii) Form the less than cumulative frequency distribution.

iii) Is there any open-end class? If yes state it.

iv) How many shops have sales more than H 40,000.

v) State type of classification.
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b) Draw histogram for the following data. Hence obtain its mode graphically.

Marks 0-20 20-40 40-60 60-80 80-100

No.of students 9 25 40 30 10

c) Average monthly sales of certain departmental store for first 11 months
was H 56,000. Due to repair and renewal of shop in the last month the
average sales dropped down to H 8,000.

Find the average monthly sales in the year.

d) Obtain median for the following data.

Dividend % 10-15 15-20 20-25 25-30 30-35

No.of companies 10 20 15 5 2

e) Define: Range and standard deviation (s.d.) state the formula for each in
case of ungrouped data and frequency distribution.

f) Information regarding monthly salaries of workers of two Companies A
and B is given below:

Company A Company B

No.of Workers 60 90

mean salary H12,000 H15,000

S.D.of salary H100 H120

Which company has less variation in salaries?


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Q1) Solve the following:

a) Select correct option for the following (any 5): [5×1=5]

i) Bullets and Numbering is in _______ tab.

a) Home tab b) Insert tab

c) Page layout tab d) View tab

ii) Which of the following is graphics solution for word processors?

a) Clipart b) Word Art

c) Drop cap d) All the above

iii) The keystroke Ctrl+I is used to

a) Increase font size

b) Insert a live break

c) Indicate the text should be bold

d) Applies italic format to select text

iv) Junk Email is also called

a) Spam b) Spoof

c) Sniffer script d) Spool

v) Which of the following is not anti-viruses software.

a) NAV b) F-prot

c) Oracle d) MCAfree

vi) Which of the following is a storage device?

a) Tape b) Hard disk

c) Floppy Disk d) All of the above

P.T.O.



2[5801]-105

b) Answer True or False of following (any 5): [5×1=5]

i) Malware is a Anti Virus Software.

ii) MS-Office is a operating system.

iii) LAN is Logic Area Network.

iv) E-mail is used for Easy Communication.

v) E-commerce is electronic commerce.

vi) Google chrome is not a browser.

Q2) Attempt any four of the following: [4×5=20]

a) Explain characteristics of computer.

b) What is meant by virus? Define Antivirus.

c) Explain features of MS-Powerpoint.

d) Explain LAN and WAN in detail.

e) What is E-commerce?

Q3) Attempt any four of the following: [4×5=20]

a) Write difference between RAM and ROM.

b) Define Computer. Explain the Block Diagram of computer.

c) How to create table in MS-word?

d) What are the advantages and disadvantages of Internet?

e) Explain Computer Application in various fields of commerce.

Q4) Write short notes on (any 5): [5×4=20]

a) Laser Printer.

b) Operating System.

c) MS-Word-Word Art.

d) Data Processing.

e) Wireless Network.

f) E-Governance.


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à.à.à.à.à.1) Imbrb àíZ gmoS>dm. [5×1=5]

A) Imbrbn¡H$s `mo½` n`m©̀  {ZdS>m. (H$moUVohr nmM)

i) Bullets Am{U Number ho ............. Q>°~ _Ü`o AmhoV.

A) Home tab ~) Insert tab

H$) Page layout tab S>) View tab

ii) Imbrbn¡H$s H$moUVo Word Processors _Yrb Graphics Solutions AmhoV.

A) Clipart ~) Word Art.

H$) Drop cap S>) All the above

iii) Ctrl + I hm Key Stroke H$í`mgmR>r dmnaVmV.

A) Font Size dmT>dÊ`gmR>r ~) Line Break Q>mH$Ê`mgmR>r

H$) eãX Bold H$aÊ`mgmR>r S>) Italic Format H$aÊ`mgmR>r

iv) Junk Email bm Agohr åhQ>bo OmVo.

A) Spam ~) Spoof

H$) Sniffer Script S>) Spool

v) Imbrbn¡H$s H$moUVo Antivirus Software Zmhr ò.

A) NAV ~) F-Prot

H$) Oracle S>) MCA Free

vi) Imbrbn¡H$s H$moUVo Storage device Amho?

A) Tape ~) Hard disk

H$) Floppy Disk S>) All the above
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~) Imbrbn¡H$s MyH$ qH$dm ~amo~a Vo {bhm. (H$moUVohr nmM) [5×1=5]

i) Malware ho Anti virus Software Amho.

ii) MS-Office hr Operating System Amho.

iii) LAN åhUOo Logic Area Network.

iv) E-mail ho g§nH$m©Mo gmono gmYZ Amho.

v) E-Commerce ho Electronic Commerce Mo _mÜ`_ Amho.

vi) Google Chrome  hm Browser Zmhr.

à.à.à.à.à.2) nwT>rbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4×5=20]

A) Computer Mr d¡{eîQ>ço ñnï> H$am.

~) Virus åhUOo H$m`? Antivirus Mr ì`m»`m {bhm.

H$) MS-Power Point Mr d¡{eîQ>ço {bhm.

S>) LAN Am{U WAN g§nwU© ñnï> H$am.

B) E-Commerce åhUOo H$m`?

à.à.à.à.à.3) nwT>rbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4×5=20]

A) RAM Am{U ROM ømVrb \$aH$ ñnï> H$am.

~) Computer Mr ì`m»`m Úm. Computer Mr Block Diagram ñnï> H$am.

H$) MS-Word _Ü ò table H$go H$amdo ñnï> H$am.

S>) Internet Mo \$m`Xo d VmoQ>o {bhm.

B) Computer Applications Mm Commerce joÌmVbm Cn`moJ gm§Jm.

à.à.à.à.à.4) {Q>nm {bhm. (H$moUVohr nmM) [5×4=20]

A) Laser Printer.

~) Operating System.

H$) MS-Word-Word Art.

S>) Data Processing.

B) Wireless Network.

\$) E-Governance.


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Q1) A) Fill up the blanks: [7]
i) An ________ is an administrative centre of business.

ii) ________ is a group of people who are co-operating under the
direction of leadership for the accomplishment of a common end.

iii) _________ means converting hard copy or Non-digital, records
into digital formats.

iv) _________ is a way of work which moves from one employee to
another and one department to another.

v) ________ is an important segment of modern business.

vi) _______ is a task of planning, co-ordinating, motivating the efforts
of employees towards the specific objectives.

vii) _________ management is a crucial aspect of survival for any
company.

B) True or false : [7]
i) Office is an information centre.

ii) Line organisation is the oldest and most common type of
organisation.

iii) Record keeping is not a function of modern office.

iv) Office manuals to keep upto date is often a difficult Job.

v) The office layout is an important aspect of office management.

vi) Committee organisation is useful for organisation.

vii) Untrained staff is difficulties in flow of work.

P.T.O.
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Q2) a) State the importance of modern office. [4]
b) Explain the characteristics of modern office. [10]

Q3) a) State the principles of office layout. [7]

b) Explain the factors affecting office location. [7]

Q4) a) State the principles of office organisation. [4]

b) Explain the types of office organisation. [10]

Q5) a) State the aims of scientific office management. [7]

b) Explain the steps for installation of scientific office management. [7]

Q6) a) State the objectives of records management. [4]

b) Explain the advantages of Digitalisation of Records. [10]

Q7) a) State the characteristics of office work. [7]

b) Explain the difficulties in flow of work. [7]

Q8) Write short Notes (Any Two) [14]

a) Importance of office environment.

b) Functions of office management.

c) Digitalisation of Records.

d) Characteristics of flow of work.


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Total No. of Questions : 8]

[5801]-106
F.Y. B.Com.

115 (a) : ORGANISATIONAL SKILLS DEVELOPMENT - I
(2019 Pattern) (Semester - I)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) àíZ H«$. 1 Am{U àíZ H«$. 8 gmoS>{dUo Amdí¶H$ AmhooV.
2) àíZ H«$. 2 Vo 7 ¶mn¡H$s H$moUVohr 3 àíZ gmoS>dm.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

P2848

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. [7]

i) ........... ho àemgH$s¶ ì¶dgm¶mMo H|$Ð Amho.
ii) ............ åhUOo ì¶º$sMm Agm g‘wXm¶ H$s, Omo nwT>mè¶mZo {Xboë¶m AmXoemZygma gm‘mÝ¶

C{Ôï>m§À¶m nwV©VoH$[aVm ghH$m¶m©Zo à¶ËZ H$aVmo.
iii) XñVEodOm§Mr Bbo³Q´>m{ZH$ nÕVrZo àV V¶ma H$ê$Z amIyZ R>odÊ¶mg XñVEodOmMo ^m¡{VH$

ñdê$nmV ................... Ago åhUVmV.
iv) ........... Agm Agmdm H$s, Á¶m‘wio H$m¶© EH$m {H«$¶oVyZ nwT>À¶m {H«$¶oH$S>o, EH$m

H$‘©Mmè¶mH$Sy>Z Xþgè¶m H$‘©Mmè¶mH$S>o d {d^mJmVyZ nwT>À¶m {d^mJmH$S>o gaH$V amhrb.
v) ........... hm AmYw{ZH$ ì¶dgm¶mMm EH$ ‘hËdmMm {d^mJ Amho.
vi) H$m¶m©b¶ H$m‘H$mOmMo {Z¶moOZ, {Z¶§ÌU, g‘Ýd¶ H$ê$Z g§KQ>Zobm Ano{jV CÔoemH$S>o

KodyZ OmUo åhUOoM .............. hmo¶.
vii) ........... ‘°ZoO‘|Q> hr H$moUË¶mhr H§$nZrÀ¶m ApñVÎdmMr ‘hËdmMr ~m~ AgVo.

~) MwH$ H$s ~amo~a {bhm. [7]

i) H$m¶m©b¶ åhUOo ‘m{hVrMo H|$Ð.
ii) aoIm g§KQ>Z hm g§KQ>ZoMm OwZm d gd©gm‘mÝ¶ àH$ma Amho.
iii) ‘m{hVrMo OVZ ho AmYw{ZH$ H$m¶m©b¶mMo H$m¶© Zmhr.
iv) ‘m{hVr nwpñVH$m AÚmdV R>odUo H$R>rU H$m‘ Amho.
v) H$m¶m©b¶rZ A§VJ©V aMZm H$m¶m©b¶rZ ì¶dñWmnZmgmR>r ‘hËdmMr Amho.
vi) g{‘Vr g§KQ>Z g§KQ>ZogmR>r Cn¶wº$ Amho.
vii) Aà{e{jV H$‘©Mmar H$m¶©àdmhmVrb AS>MUr AmhoV.
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à.à.à.à.à.2) A) AmYw{ZH$ H$m¶m©b¶mMo ‘hËd ñnï> H$am. [4]

~) AmYw{ZH$ H$m¶m©b¶mMr d¡{eï>o gm§Jm. [10]

à.à.à.à.à.3) A) H$m¶m©b¶ aMZoMo VËdo gm§Jm. [7]

~) H$m¶m©b¶mÀ¶m ñWmZ{ZpíMVrda n[aUm‘ H$aUmao KQ>H$ {bhm. [7]

à.à.à.à.à.4) A) H$m¶m©b¶rZ g§KQ>ZoMr VÎdo ñnï> H$am. [4]

~) H$m¶m©b¶ g§KQ>ZoMo àH$ma ñnîQ> H$am. [10]

à.à.à.à.à.5) A) emñÌr¶ H$m¶m©b¶rZ ì¶dñWmnZmMo CÔoe ñnï> H$am. [7]

~) emñÌr¶ H$m¶m©b¶mVrb H$m‘H$mOàUmbr ñWmnZ H$aÊ¶mVrb Q>ßno ñnï> H$am. [7]

à.à.à.à.à.6) A) Xáa ì¶dñWmnZmMr C{Ôï>o ñnï> H$am. [4]

~) g§JUH$mË‘H$ A§H$sH$aUmMo ’$m¶Xo ñnï> H$am. [10]

à.à.à.à.à.7) A) H$m¶m©b¶rZ H$m‘H$mOmMo d¡{eï>o gm§Jm. [7]

~) H$m¶©àdmhmVrb AS>MUr ñnï> H$am. [7]

à.à.à.à.à.8) {Q>nm {bhm. (H$moUVohr XmoZ) [14]

A) H$m¶m©b¶ n¶m©daUmMo ‘hËd

~) H$m¶m©b¶ ì¶dñWmnZmMr H$m¶©

H$) g§JUH$mË‘H$ A§H$sH$aU

S>) H$m¶©àdmhmMr d¡{eï>o


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F.Y. B.Com.

115 (b) : BANKING AND FINANCE
Fundamentals of Banking - I
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Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) Question No. 1 is compulsory.
2) Solve any three questions from Q. No.2 to Q. No.7.
3) Q. No. 8 is compulsory.
4) Figures to the right indicate full marks.

P2849 [Total No. of Pages : 7

SEAT No. :

Q1) A) Fill in the blanks (any 7).  [7]
i) Bank of Hindustan was established in________.

a) 1770

b) 1735

c) 1717

ii) In the year_________14 commercial banks were nationalised in
India.

a) 19th July 1969

b) 1st July 1955

c) 15th April 1980

iii) In the________year Reserve Bank of India was established.

a) 1934

b) 1935

c) 1938

iv) _______Bank is private Bank.

a) Central Bank of India

b) ICICI Bank

c) Cosmos Bank

v) ________is the public sector Bank.

a) Cosmos Bank

b) Bank of Maharashtra

c) HDFC Bank

P.T.O.



2[5801]-107

vi) Bank of England was established in the year________.

a) 1694

b) 1883

c) 1862

vii) State Bank of India was established in the year________.

a) 1955

b) 1948

c) 1969

viii) NABARD was established in the year________.

a) 1982

b) 1979

c) 1986

ix) Bank offers________rate of Interest on Fixed deposit account.

a) Very low

b) Low

c) High

B) State whether the following statements are true or false (any 7). [7]

i) Acceptance of deposit is the secondary functions of bank.

ii) Advancing of loans is a primary functions of Bank.

iii) Central Bank of India is the public sector bank.

iv) Reserve Bank of India is the Central Bank of India.

v) Married woman’s account is the institutional account holders.

vi) Hindu undivided family’s account is individual account holder.

vii) Demand Draft is cheque drawn by one branch of a bank upon
another branch.

viii) Swift was established in the year 1973.

ix) Overdraft facility is available to current deposit account.
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Q2) a) State the origin of the word Bank. [4]

b) Explain the structure of Indian Banking System. [10]

Q3) a) Explain in brief primary functions of commercial banks. [7]

b) Explain in brief Non fund based credit facilities of commercial banks.[7]

Q4) a) Explain procedure for operating current account in the bank. [7]

b) Explain the procedure for opening of deposit account in a bank. [7]

Q5) a) What is SWIFT? [4]

b) Explain in brief the methods of remittances. [10]

Q6) a) Explain in brief agency functions of bank. [7]

b) Explain in brief general utility services of bank. [7]

Q7) a) Explain in brief evolution of banking in India. [7]

b) Explain in brief evolution of banking in Asia. [7]

Q8) Write a short notes (any two). [14]

a) KYC

b) Bankers cheque.

c) Transfer of Account.

d) RTGS


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Total No. of Questions : 8]

[5801]-107
F.Y. B.Com.

115 (b) : BANKING AND FINANCE
Fundamentals of Banking - I

(2019 Pattern) (Semester - I) (Credit System)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm … 1) àíZ H«$. 1 A{Zdm¶© Amho.
2) àíZ H«$. 2 Vo àíZ H«$. 7 ¶mn¡H$s H$moUVohr VrZ àíZ gmoS>dm.
3) àíZ H«$. 8 A{Zdm¶© Amho.
4) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
5) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

P2849

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am (H$moUVohr gmV) [7]

i) ~±H$ Am°’$ qhXþñVmZMr ñWmnZm .................. ¶m dfu Pmbr.

A) 1770

~) 1735

H$) 1717

ii) 14 ì¶mnmar ~±H$m§Mo amï´>r¶H$aU .............. ¶m dfu H$aÊ¶mV Ambo.

A) 19th July 1969

~) 1st July 1955

H$) 15th April 1980

iii) [aPìh© ~±H$ Am°’$ B§{S>¶mMr ñWmnZm ................. ¶m dfu Pmbr.

A) 1934

~) 1935

H$) 1938
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iv) ............... hr ImOJr ~±H$ Amho.

A) g|Q´>b ~±H$ Am°’$ B§{S>¶m

~) Am¶. gr. Am¶. gr. Am¶. ~±H$

H$) H$m°g‘m°g ~±H$

v) .............. hr gmd©O{ZH$ joÌmVrb ~±H$ Amho.

A) H$m°g‘m°g ~±H$

~) ~±H$ Am°’$ ‘hmamï´>

H$) EM. S>r. E’$. gr. ~±H$

vi) ~±H$ Am°’$ B§½b§S>Mr ñWmnZm ............... ¶m dfu Pmbr.

A) 1694

~) 1883

H$) 1862

vii) ñQ>oQ> ~±H$ Am°’$ B§{S>¶mMr ñWmnZm ............. ¶m dfu Pmbr.

A) 1955

~) 1948

H$) 1969

viii) Zm~mS>© Mr ñWmnZm .............. ¶m dfu Pmbr.

A) 1982

~) 1979

H$) 1986

ix) ‘wXV R>od ImË¶mda ~±H$m ............. XamZo ì¶mO XoVmV.

A) Iyn H$‘r

~) H$‘r

H$) OmñV
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~) Imbrb {dYmZo MyH$ H$s ~amo~a Vo gm§Jm. (H$moUVohr gmV) [7]

i) R>odr pñdH$maUo ho ~±H$m§Mo Xþæ¶‘ H$m¶© Amho.

ii) H$O} XoUo ho ~±H$m§Mo àmW{‘H$ H$m¶© Amho.

iii) g|Q´>b ~±H$ Am°’$ B§{S>¶m hr gmd©O{ZH$ joÌmVrb ~±H$ Amho.

iv) ^maVr¶ [aPd© ~±H$ hr ^maVmMr ‘Ü¶dVu ~±H$ Amho.

v) {ddm{hV ‘{hbm§Mo ImVo ho g§ñWmË‘H$ ImVoXma Amho.

vi) qhXÿ A{d^º$ Hw$Qy>§~ ImVo ho d¡¶{º$H$ ImVoXma Amho.

vii) ‘mJUr YZmH$f© ho ~±Ho$À¶m Xþgè¶m emIoda H$mT>bobo YZmXoe Amho.

viii) pñdâQ>Mr ñWmnZm 1973 ¶m dfu Pmbr.

ix) A{YH$f© gdbV hr Mmby R>odr ImË¶mda {Xbr OmVo.

à.à.à.à.à.2) A) ~±H$ ¶m eãXmMr CËnÎmr gm§Jm. [4]

~) ^maVmVrb ~±H$ àUmbrMr aMZm g{dñVa ñnï> H$am. [10]

à.à.à.à.à.3) A) ì¶mnmar ~±H$m§Mo àmW{‘H$ H$m¶© g§{já ñnï> H$am. [7]

~) ~±Ho$Mr {~Ja {ZYr AmYm[aV nV gw{dYm g§{já ñnï> H$am. [7]

à.à.à.à.à.4) A) Mmby ImË¶mda ì¶dhma H$aÊ¶mMr nÕVr ñnï> H$am. [7]

~) R>od ImVr CKS>Ê¶mMr nÕVr ñnï> H$am. [7]
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à.à.à.à.à.5) A) pñdâQ> åhUOo H$m¶? [4]

~) ~±Ho$‘m’©$V n¡go nmR>{dÊ¶mÀ¶m nÕVr g§{já ñnï> H$am. [10]

à.à.à.à.à.6) A) ~±H$m§Mr à{V{Z{Y H$m¶} g§{já ñnï> H$am. [7]

~) ~±H$m§Mr gm‘mÝ¶ Cn¶wº$ godm g§{já ñnï> H$am. [7]

à.à.à.à.à.7) A) ^maVmVrb ~±H$ ì¶dgm¶mMr CËH«$m§Vr WmoS>³¶mV ñnï> H$am. [7]

~) Am{e¶mVrb ~±H$ ì¶dgm¶mMr CËH«§$mVr WmoS>³¶mV ñnï> H$am. [7]

à.à.à.à.à.8) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [14]

A) Ho$ dm¶ gr (KYC)

~) ~±H$g© MoH$

H$) ~±H$ ImË¶mMo Xþgè¶m emIoV hñVm§VaU

S>) Ama Q>r Or Eg (RTGS)


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SEAT No. :

Q1) Answer the following questions upto 20 words each. (Any five) [10]

 a) Write the definition of Commercial Geography.

 b) State any two examples of Tertiary Economic Activity.

c) State any two examples of Renewable resources.

d) State any two economic advantages of forest.

e) What is meant by ‘Under Population’?

f) State any two effects of migration.

Q2) a) Answer any one of the following questions upto 150 words. [12]

i) Discuss the nature and development of commercial geography.

ii) Explain the economic activities of man.

b) Answer the following question upto 100 words. [8]

Explain in detail any two study approaches of commercial geography.

P.T.O.



2[5801]-108

Q3) a) Answer any one of the following of questions upto 150 words. [12]

i) Describe the man-made resources.

ii) State the causes of water polution and suggest remedies.

b) Answer the following question upto 100 words. [8]

Explain the effects of conventional energy resources on environment.

Q4) a) Answer any one of the following questions upto 150 words. [12]

i) Explain the population characteristics of India.

ii) Explain the types of migration.

b) Answer the following question upto 100 words. [8]

Explain the advantages of optimum population.

Q5) Write short notes (Any four) [20]

i) Scope of commercial geography.

ii) Secondary economic activities.

iii) Energy crises.

iv) Soil conservation.

v) Human Development Index (HDI).

vi) Optimum population.


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Total No. of Questions : 5]

[5801]-108
F.Y. B.Com.

115 (C) : ELEMENTS OF COMMERCIAL GEOGRAPHY - I
(2019 Pattern) (Semester - I)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) àíZ H«$. 1 gmoS>{dUo Amdí¶H$ Amho.
2) àíZ H«$. 2 Vo àíZ H«$. 5 n¡H$s H$moUVohr VrZ n«íZ gmoS>dm.
3) àíZ H«$. 2 Vo àíZ H«$. 5 g‘mZ JwUm§Mo AmhoV.
4) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.
5) ZH$mem ñQ>opÝgëg dmnaÊ¶mg nadmZJr Amho.

P2850

à.à.à.à.à.1) Imbrb àíZm§Mr àË¶oH$s 20 eãXm§V CÎmao {bhm. (H$moUVohr nmM) [10]

A) ì¶mnmar ŷJmobmMr ì¶m»¶m {bhm.

~) V¥{V¶H$ loUrÀ¶m Am{W©H$ ì¶dgm¶m§Mr XmoZ CXmhaUo Úm.

H$) nwZZ©drH$aUr¶ gmYZg§nÎmrMr XmoZ CXmhaUo {bhm.

S>) O§Jbm§Mo XmoZ Am{W©H$ ’$m¶Xo gm§Jm.

B) Ý¶yZV‘ bmoH$g§»¶m åhUOo H$m¶?

\$) ñWbm§VamMo H$moUVohr XmoZ n[aUm‘ {bhm.

à.à.à.à.à.2) A) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 150 eãXm§V {bhm. [12]

i) ì¶mnmar ŷJmobmMo ñdê$n Am{U {dH$mgmg§~§Yr MMm© H$am.

ii) ‘mZdmÀ¶m Am{W©H$ {H«$¶m ñnï> H$am.

~) Imbrb àíZmMo 100 eãXmV CÎma {bhm. [8]

ì¶mnmar ŷJmobmÀ¶m H$moUË¶mhr XmoZ Aä¶mgnX²YVtMo dU©Z H$am.
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à.à.à.à.à.3) A) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 150 eãXm§V {bhm. [12]

i) ‘mZd{Z{‘©V gmYZg§nÎmrMo dU©Z H$am.
ii) ObàXÿfUmMr H$maUo gm§JyZ Cnm¶¶moOZm ñnï> H$am.

~) Imbrb àíZmMo 100 eãXmV CÎma {bhm. [8]

nma§n[aH$ COm©gmYZm§Mo n¶m©daUmdarb n[aUm‘ ñnï> H$am.

à.à.à.à.à.4) A) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 150 eãXm§V {bhm. [12]

i) ^maVmÀ¶m bmoH$g§»¶oMr d¡{eîQ>ço ñnï> H$am.
ii) ñWbm§VamMo àH$ma g{dñVa {bhm.

~) Imbrb àíZmMo 100 eãXmV CÎma {bhm. [8]

n¶m©ßV bmoH$g§»¶oMo ’$m¶Xo ñnï> H$am.

à.à.à.à.à.5) {Q>nm {bhm. (H$moUË¶mhr Mma) [20]

A) ì¶mnmar ŷJmobmMr ì¶már
~) {Û{V¶H$ ì¶dgm¶
H$) COm© g‘ñ¶m
S>) ‘¥Xm g§dY©Z
B) ‘mZd g§gmYZ {dH$mg {ZX}em§H$
’$) A{V[aº$ bmoH$g§»¶m





Q1) A) Fill up the blanks / Multiple choice question : [14]
i) In which year Indian Navy was established?

a) 1932 b) 1934
c) 1950 d) 1947

ii) In which year Indian air force was established?
a) 1939 b) 1950
c) 1932 d) 1947

iii) The Indian air force is organized into ______ regional commands
and air force training command.
a) Six b) One
c) Seven d) Five

iv) The Indian Navy western command is located at ______
a) Visakhapatnam b) Kolkata
c) Chandimandir d) Mumbai

v) The Indian Coast Guard Organization is headed by the ______
a) Director-General b) Director
c) Admiral d) naval chief

vi) The Indian Border Security Force is headed by the _____
a) Director-General b) Director
c) General d) Army chief

Total No. of Questions : 8]

[Total No. of Pages : 4

[5801]-109
F.Y. B.Com. (Semester - I)

115-D : DEFENCE ORGANIZATION AND MANAGEMENT
IN INDIA - I

(2019 Pattern)
Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) Q. No. 1 and Q. No. 8 are compulsory.
2) Answer any three from questions Q. No. 2 to Q. No. 7.
3) Figures to the right indicate full marks.

P2851
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vii) The Army is headed by the chief of the Army staff with its
Headquarters in _____
a) Pune b) Kolkata
c) New Delhi d) Mumbai

B) True and False Type Question :
i) The National Cadet Corps is the youth wing of Armed Forces.

(True/False)
ii) Maharashtra SRPF there are a total of 10 Groups and 5 Training

center. (True/False
iii) Civil Defence measures are designed to deal with immediate

emergency. (True/ False)
iv) The Indian Border Security Force was established on 18th August

1978. (True/False)
v) The Indian coast guard is an Indian paramilitary police force.

(True/False)
vi) MARCOS is a best paramilitary force in India. (True/False)
vii) The State Reserve Police Force is headed by an office of the rank

of Additional Director General of police. (True/False)

Q2) Explain role of the Home Guard. [14]

Q3) Explain role of the National Cadet Corps (NCC) [14]

Q4) Describe the Organizational Structure of Indian armed forces. [14]

Q5) State the role of defence committee of the Cabinet. [14]

Q6) Explain Element of Defence Organization. [14]

Q7) Discuss the Principles of Defence Organization. [14]

Q8) Write a Short notes (any two) : [2 × 7 = 14]
a) Reconstruction of Indian Army since 1947
b) Indian Air Force
c) Army Commands Headquarters.


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[5801]-109
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115-D : DEFENCE ORGANIZATION AND MANAGEMENT
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(2019 Pattern)

(_amR>r ê$nm§Va)
doi : 2½ Vmg]                      [EHy$U JwU : 70

gyMZm : 1) àíZ 1 bm d àíZ 8 A{Zdm ©̀ Amho.
2) àíZ 2 Vo àíZ 7 n¡H$s H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb  A§H$ nyU© JwU Xe©{dVmV.

P2851

àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^mam/~hþ n`m©̀ r àíZ … [14]
i) ^maVr` Zm¡goZoMr ñWmnZm H$moUË`m dfu H$aÊ`mV Ambr.

A) 1932 ~) 1934

H$) 1950 S>) 1947

ii) ^maVr` hdmB© XbmMr ñWmnZm H$moUË`m dfu H$aÊ`mV Ambr.
A) 1939 ~) 1950

H$) 1932 S>) 1947

iii) ^maVr` hdmB© XbmMo ....... àmXo{eH$ H$_m§S²>g Am{U à{ejU H$_m§S> AmhoV.
A) ghm ~) EH$
H$) gmV S>) nmM

iv) ^maVr` Zm{dH$ XbmMo npíM_ H$_m§S .......... `m {R>H$mUr Amho.
A) {demImnQ²>Q>U_ ~) H$bH$Îmm
H$) Mm§{X_§{Xa S>) _w§~B©

v) ^maVr` VQ>ajH$ XbmMo ZoV¥Ëd .......... ho H$aVmV.
A) S>m`aoŠQ>a OZab ~) S>m`aoŠQ>a
H$) A°S>{_ab S>) Zoìhb {M\$

vi) ^maVr` gr_m gwajm XbmMo VoV¥Ëd ............. ho H$aVmV.
A) S>m`aoŠQ>a OZab ~) S>m`aoŠQ>a
H$) OZab S>) Am_u {M\$
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vii) ^maVr` ñWbgoZoMo ZoV¥Ëd ñWbgoZm AÜ`j H$aVmV Vo Imbrb n¡H$s ..........
hoS>ŠdmQ>©g²déZ {Z §̀{ÌV H$aVmV.
A) nwUo ~) H$bH$Îmm
H$) Zdr {Xëbr S>) _w§~B©

~) MwH$ H$s ~amo~a Vo {bhm.
i) amï´>r` N>mÌ goZm hr goZmXbm§Vrb ẁdH$m§Mr VwH$S>r Amho. (MwH$/~amo~a)
ii) _hmamï´>mVrb amÁ` amIrd nmo{bg XbmMo EHw$U 10 JQ> Am{U nmM à{ejU H|$Ðo

Amho. (MwH$/~amo~a)
iii) ZmJar g§ajU Xb aMZm hr AmnmËH$mbrZ VmËH$mi godm XoUmao Xb Aer Amho.

(MwH$/~amo~a)
iv) ^maVr` H§o${Ð` gr_m gwajm XbmMr 18 Am°JñQ> 1978 amoOr H$aÊ`mV Ambr.

(MwH$/~amo~a)
v) ^maVr` VQ>ajH$ Xb ho ^maVr` {Z_bîH$ar Xb Amho. (MwH$/~amo~a)
vi) MARCOS ho ^maVmVrb gdm}Îm_ {Z_bîH$ar Xb Amho. (MwH$/~amo~a)
vii) amÁ` amIrd nmo{bg XbmMo ZoV¥Ëd A°{S>eZb S>m`aoŠQ>a OZab Am°\$ nmo{bg `m

hþXçmMo nm{bg A{YH$mar H$aVmV. (MwH$/~amo~a)

àíZ àíZ àíZ àíZ àíZ 2) hmo_ JmS>©Mr ŵ{_H$m ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 3) amï´>r` N>mÌgoZoMr ŵ{_H$m ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 4) ^maVr` goZmXbmÀ`m g§KQ>ZmË_H$ aMZoMo dU©Z H$am. [14]

àíZ àíZ àíZ àíZ àíZ 5) H|${Ð` _§{Ì_§S>imÀ`m g§ajU g{_VrMr ŵ{_H$m gm§Jm. [14]

àíZ àíZ àíZ àíZ àíZ 6) g§ajU g§KQ>ZoMo KQ>H$ ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 7) g§ajU g§KQ>ZoMr _wbVËdo `mda MMm© H$am. [14]

àíZ àíZ àíZ àíZ àíZ 8) {Q>nm {bhm. (H$moUË`mhr XmoZ) [2 × 7 = 14]
A) ^maVmMr ñWbgoZoMr 1947 Z§VaMr nwZ©aMZm
~) ^maVr` hdmB© Xb
H$) ñWbgoZm H$_m§S²>g hoS>ŠdmQ>©g





Q1) a) Fill in the blanks : [7]
i) The word _______ literally means to work together or act together.

ii) MaClagan committee was constituted in the year ________.

iii) The first co-operative principles are accepted by the I.C.A.
congress held at ________.

iv) The Co-operative Societies Act was passed in _______.

v) The liability of members of the co-operative society is _______.

vi) Vaidyanathan committee was presented their Report in the year
_______.

vii) The Role of ________ Government and State Government is
significant in co-operative movement.

b) True or False : [7]
i) In Co-operative movement there are no short comings.

ii) Lack of education and political interfere are the examples of
problems faced by co-operative sector.

iii) Fedrick Nichoison committee submitted the report in 1904.

iv) The first co-operative sugar factory was formed by Dr. Vikhe
Patil in Ahemadnagar district.

v) Co-operative movement was succeed due to the contribution of
various leaders in post independance period.

vi) National co-operative development corporation was established
in the year 1973.

vii) The Indian co-operative legislation started in 1904.

Total No. of Questions : 8]
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Q2) What is co-operation? State the Nature and scope of co-operation. [14]

Q3) Discuss the various principles adopted by International Co-operative Alliance
(I.C.A.) in 1966. [14]

Q4) Evaluate the History of Co-operative movement in pre and post
independance period. [14]

Q5) Discuss the various recommendations of Maclagan Committee report 1912.
[14]

Q6) Discuss the contribution of various co-operative leaders in post independance
Era upto the present stage. [14]

Q7) Explain the role of central and state government in co-operative movement.
[14]

Q8) Write short notes (Any two) : [14]

a) Weakness of co-operative movement

b) Gorewalla committee report 1954

c) Development of co-operative movement in India.

d) Co-operative V/s communism.


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. [7]

i) ............ `m eãXmMm Iam AW© åhUOo EH$Ì H$m`© qH$dm EH$Ì H¥$Vr.
ii) _°ŠboJZ g{_VrMr ñWmnZm ............... `m dfu Pmbr.
iii) ghH$mamMr VÎdo àW_V… Am§Vaamï´>r` ghH$mar n[afXoZo Amnë`m .............. ̀ oWrb

A{YdoeZmV pñdH$mabr.
iv) ghH$mar gmogm`Q>çm§Mm H$m`Xm .............. `m dfu g§_V Pmbm.
v) ghH$mar gñWm§À`m g^mgXmMr O~m~Xmar .............. AgVo.
vi) d¡X`ZmWZ g{_VrZo Amnbm Ahdmb ............. dfu gmXa Ho$bm.
vii) ............ emgZ Am{U amÁ` emgZ `m§Mr ghH$mar MidirVrb ŵ{_H$m IynM

_hËdmMr Amho.
~) MwH$ qH$dm ~amo~a Vo gm§Jm. [7]

i) ghH$mar MidirV H$moUVohr Xmof ZmhrV.
ii) {ejUmMm A^md Am{U amOH$s` hñVjon hr ghH$mar joÌmVrb g_ñ`m§Mr CXmhaUo

AmhoV.
iii) \o$S´>rH$ {ZH$mobgZ g{_VrZo Ahdmb 1904 _Ü ò gmXa Ho$bm.
iv) Ah_XZJa {Oëh`mV ghH$mar VËdmda nhrbm ghH$mar H$maImZm S>m°. {dIo nmQ>rb

`m§Zr ñWmnZ Ho$bm.
v) ñdmV§Í`àm{áZ§VaÀ`m H$mimV {d{dY ZoË`m§À`m ̀ moJXmZm_wio ghH$mar Midi ̀ eñdr

Pmbr.
vi) amï´>r` ghH$mar {dH$mg _hm_§S>imMr ñWmnZm 1973 _Ü ò Pmbr.
vii) ^maVmV ghH$mar H$m`XçmMr gwédmV 1904 _Ü ò Pmbr.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) ghH$ma åhUOo H$m`? ghH$mamMo ñdén Am{U ì`már gm§Jm. [14]

àíZ àíZ àíZ àíZ àíZ 3) Am§Vaamï´>r` ghH$mar g§K 1966 Zo ñdrH$mabobr ghH$mamMr {d{dY VËdo `m§Mr MMm© H$am.[14]

àíZ àíZ àíZ àíZ àíZ 4) ghH$mar MidirMo ñdmV§Í`moÎma Am{U ñdmV§Ìnyd© H$mbI§S>mVrb B{VhmgmMo _wë`m§H$Z H$am.
[14]

àíZ àíZ àíZ àíZ àíZ 5) _°ŠboJZ g{_Vr Ahdmb 1912 _{Yb {d{dY {e\$maetMr MMm© H$am. [14]

àíZ àíZ àíZ àíZ àíZ 6) ñdmV§Í`moÎma H$mimnmgwZ A{bH$S>rb H$mimVrb ghH$ma joÌmVrb {d{dY ZoË`m§Mo `moJXmZ `mda
MMm© H$am. [14]

àíZ àíZ àíZ àíZ àíZ 7) ghH$mar MidirVrb Ho$ÝÐ emgZ Am{U amÁ` emgZmMr ŵ{_H$m ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 8) WmoS>Š`mV {Q>nm {bhm (H$moUË`mhr XmoZ) … [14]

A) ghH$mar MidirÀ`m g_ñ`m (Xÿ~©bVm)

~) Jmoadmbm g{_Vr Ahdmb 1954

H$) ^maVmVrb ghH$mar MidirMm {dH$mg

S>) ghH$ma {déXY gmå`dmX





Q1) a) Fill in the blanks (any 7) : [7]
i) Demand forecasting is an _______ of the future demand.

a) Estimation b) Non estimation
c) Fixed

ii) Managerial economics based ________ economics.
a) Micro economics b) Agricultural economics
c) Labour economics

iii) Indifference curve shows of two commodity gives the same level
of _______ to the consumer.
a) utility b) demand
c) satisfaction

iv) In the long run all factors of productions are _______.
a) variable b) constant
c) variable and constant

v) Opportunity cost also known as ________ cost.
a) Alternative b) Total
c) Variable

vi) Indifference curve _______ to the orgin.
a) convex b) concave
c) inverses

vii) Economic cost is also known as _______ cost.
a) Implicit b) Fixed cost
c) Social cost

viii) Managerial economics is help to take _______ making.
a) controling b) dicision
c) direction
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ix) Supply is ______ concept.
a) Flow b) Stock
c) Flow and stock

b) State whether the following statements are true or false (any 7) : [7]
i) Managerial economics is a decision making science.
ii) The functional relationship between input and output is known

as demand function.
iii) Total cost is equal to total fixed cost plus total variable cost.
iv) Expert opinion method is not method of demand forecasting.
v) The law of diminishing marginal utility is represented by Marshall.
vi) In the long run production function all the factors of production

are variable.
vii) Demand is also culled as desire.
viii) Managerial economics is also known as business economics.
ix) Cross elasticity is also known as in come elasticity.

Q2) State and explain the nature and scope of managerial economics. [14]

Q3) State the law of supply. Explain the determinants of supply. [14]

Q4) What is indifference curve? Explain the features of indifference curve. [14]

Q5) Define managerial economics. Explain the relationship between managerial
economics and micro economics. [14]

Q6) State and explain the law of variable proportions. [14]

Q7) What is demand forecasting? Explain the methods of demand forecasting.
[14]

Q8) Write short notes (Any two) : [14]
a) Consumer surplus
b) Income elasticity of demand.
c) Variable cost
d) Main characteristics of managerial economics





Total No. of Questions: 8]

[5801]-111
F.Y. B.Com. (Semester - I)

115(F) : MANAGERIAL ECONOMICS - I
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doi : 3 Vmg     ] [ EHy$U JwU : 70
gyMZm:

1) àíZ H«$. 1 Am{U àíZ H«$. 8 gmoS>{dUo Amdí`H$ Amho.
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3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r _wi B§J«Or àíZ n{ÌH$m nhmdr.

P2853

àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am (H$moUË`mhr 7) [7]
i) _mJUrMm nyd© A§XmO åhUOo .............. ^drî` H$mbrZ _mJUr hmò .

A) AnojrV ~) AZnojrV H$) {ZürV
ii) ì`dñWmnH$s` AW©emó ho .............. `m AW©emómda AmYmarV Amho.

A) A§ebjm AW©emó ~) H¥$fr AW©emó H$) l_mMo AW©emó
iii) Cn^moH$Ë`mbm g_mZ ............ XoUmao XmoZ dñVw§Mo {^ÞJQ> Xe©{dUmè`m aofobm

g_d¥Îmr dH«$ Ago åhUVmV.
A) Cn`moJrVm ~) _mJUr H$) g_mYmZ

iv) {XK©H$mbrZ CËnmXZmMo gd© KQ>H$ ................ AgVmV.
A) ~XbVo ~) ñWra H$) ~XbVo Am{U ñWra

v) d¡H$ënrH$ IMm©bm .............. IM© Agohr åhUVmV.
A) n`m©̀ r ~) EHy$U H$) ~XbVm

vi) g_d¥Vr dH«$ _wi q~Xþer .............. AgVmV.
A) ~{Q>©dH«$ ~) A§V©dH«$ H$) ì`ñV

vii) Am{W©H$ IMm©bm ............ IM© Agohr åhUVmV.
A) àË`j ~) ñWra H$) gm_mOrH$

viii) ì`dñWmnH$s` AW©emó ............ KoÊ`mg _XV H$aVo.
A) {Z §̀ÌU ~) {ZU©̀ H$) {Xem

3 P.T.O.
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ix) nwadR>m hr ............... g§H$ënZm Amho.

A) àdmhr ~) gmR>m H$) àdmhr Am{U gmR>m

~) Imbrb {dYmZo MyH$ H$s ~amo~a Vo gm§Jm (H$moUVohr 7) … [7]

i) ì`dñWmnH$s` AW©emómbm {ZU©̀  KoUmao emó åhUVmV.

ii) AmXmZ Am{U àXmZ `m§À`mVrb g§~§Ymbm _mJUr \$bZ Ago åhUVmV.

iii) EHy$U IM© hm EHy$U ñWra IM© + EHy$U ~XbVm IM© `m§À`m ~amo~a AgVmo.

iv) Vkm§Mr _Vo hr _mJUrÀ`m nyU© A§XmOmMr nÜXVr Zmhr.

v) KQ>Ë`m Cn`moJrVoMm {Z`_ Aë\«o$S> _me©b `m§Zr _m§S>bm.

vi) {XK©H$mbrZ CËnmXZ\$bZmV CËnmXZmMo gd© KQ>H$ ~XbVo AgVmV.

vii) _mJUr åhUOoM BÀN>m hmò .

viii) ì`dñWmnH$s` AW©emómbm ì`mnmar AW©emó Agohr g§~moYbo OmVo.

ix) N>oXH$ bdMrH$Vobm CËnÞ bdMrH$Vm Agohr g§~moYbo OmVo.

àíZ àíZ àíZ àíZ àíZ 2) ì`dñWmnH$s` AW©emómMo ñdén Am{U ì`már gm§Jm d ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 3) nyadR>çmMm {Z`_ gm§Jm. nyadR>çmMo {ZYm©aH$ KQ>H$ ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 4) g_d¥Îmr dH«$ åhUOo H$m`? g_d¥Îmr dH«$mMr d¡erï>o ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 5) ì`dñWmnH$s` AW©emómMr ì`m»`m {bhm. ì`dñWmnH$s` AW©emó Am{U A§ebjr AW©emó
`m§À`mVrb g§~§Y ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 6) ~XbË`m à_mUmMm {Z`_ gm§Jm d ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 7) _mJUrMm nyd© A§XmO åhUOo H$m`? _mJUrÀ`m nyd© A§XmOmÀ`m nÕVr ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 8) WmoS>Š`mV {Q>nm {bhm (H$moUË`mhr XmoZ) … [14]

A) Cn^moŠË`mMo g§Vmoî`mYrŠ`

~) _mJUrMr CËnÞ bdMrH$Vm

H$) ~XbVm IM©

S>) ì`dñWmnH$s` AW©emómMr à_wI d¡erï>o


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Q1) A) Fill in the blanks (Any Seven) : [7]

i) Which segment do eBay, Amazon.com belong?

a) B2B b) B2C

c) C2B d) C2C

ii) Internet is good example of __________.

a) WAN b) LAN

c) MAN d) None of these

iii) UPI stands for ___________.

a) Unified Payment Interface

b) Unified Payment Index

c) Under Payment Investment

d) United Payment in India

iv) IFSC code consists of _________ digits.

a) 8 b) 9

c) 10 d) 11

SEAT No. :

P.T.O.
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v) G2G means __________.

a) Government to Business

b) Business to Government

c) Government to Government

d) Business to Game

vi) The best product to sell in B2C e-commerce are ____________.

a) Small products b) Digital products

c) Special products d) Fresh products

vii) The minimum amount of money transfered through RTGS is
________.

a) 2-lakhs b) 2.5 lakhs

c) 3 lakhs d) 5-lakhs

viii) ________ is the maximum limit in transaction of NEFT.

a) 50,000/- b) 1,00,000/-

c) 1,50,000/- d) No limit

ix) ________ is not an offline payment mode.

a) Cash on delivery

b) Cash before delivery

c) Demand draft

d) e-cheque
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B) Write the following statements whether True or False (Any Seven) : [7]

i) Bank routinely accepts post dated cheques.

ii) EDI and Supply Chain Management are both B2B applications.

iii) IMPS works even on holidays.

iv) EDI means e-commerce data interchange.

v) Due to e-commerce business consumers have increased choice
online.

vi) Advertising is a function of E-Commerce.

vii) Internet further separates a business from its customers.

viii) LAN is used for online shopping.

ix) When deposite is made in bank account, bank issues a receipt.

Q2) What is debit card & credit card? Explain functioning of debit card & credit
card in detail. [14]

Q3) What is domain name system? Explain the procedure of registering an internet
domain with example. [14]

Q4) What is e-commerce? Explain the risks in e-commerce and what are the
preventive measures. [14]

Q5) Explain E-payment system. What are the requirements of e-payment system.
[14]
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Q6) Define EDI. Explain various uses and standards of EDI in detail. [14]

Q7) Explain in detail e-commerce practices V/S traditional practices. [14]

Q8) Write Short Notes (Any Two) : [14]

a) Phone pe.

b) C2C.

c) Importance of an effective website.

d) Role of mobile in e-commerce.





Q1) A) Fill in the blanks. [7]

i) Educational institute take ________ insurance policy.

[Term plan, group, whole life]

ii) ______ is primary principal of insurance.

[utmost good faith, cause proxima, subrogation]

iii) Insurance means a _______ between insurer and insurance
company.

[contract, transaction, business]

iv) Floating insurance policy is suitable for ________ property.

[Specific, average, scattered]

v) In whole life policy amount of claim received to ________.

[insurer, employee, nominee]

vi) In marine insurance, insurance company takes _______ in sea
transport.

[problems, environment, risks].

vii) Insurance transfer the ________.

[amount, risk, loss].

Total No. of Questions : 8]
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B) Write True or False. [7]
i) In single vessel policy, insurance covers of all  ships.
ii) Regular checkup of all security equipments are most important.
iii) Any one can value the loss caused by fire.
iv) In India only one Government institute is working for life

insurance.
v) General insurance can be renewed.
vi) Group insurance is taken by individual person.
vii) Life insurance is a short term insurance.

Q2) Explain the concept of insurance and state the importance of insurance.[14]

Q3) Explain the concept & principles of life insurance. [14]

Q4) Define fire insurance. Explain the types of fire insurance policies. [14]

Q5) State the meaning and features of marine insurance. [14]

Q6) Describe the nature and importance of life insurance. [14]

Q7) Explain the scope of insurance and career opportunities in insurance sector.
[14]

Q8) Write short notes (Any Two) [14]
a) Mixed policy.
b) Features of fire insurance.
c) Principal of cause proxima.
d) Memorandum clause.


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2) à. H«$. 2Vo àíZ H«$. 7 _Yrb H$moUVohr VrZ àíZ gmoS>dm.
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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. [7]
i) e¡j{UH$ g§ñWm ............... {d_m nm°{bgr KoVmV.

[_wXVr, g_wh, AmOrdZ]

ii) .............. ho {då`mMo àmW{_H$ VÎd Amho.
[nañna {dídmg, ZOrH$Mo H$maU, _mbH$s hŠH$ ~Xb]

iii) {~_m åhUOo {d_oXma Am{U {~_m H§$nZr `m§À`m_Yrb ........... AgVmo.
[H$ama, ì`dhma, ì`dgm`]

iv) VaVo {d_mnÌ ho ............. _mb_ËVogmR>r `mo½` Amho.
[{d{eï>, gamgar, {dIwaboë`m]

v) AmOrdZ {då`m_Ü ò nm°{bgrMr aŠH$_ ............... bm {_iVo.
[{d_oXma, H$m_Jma, dmagXma]

vi) gmJar {då`m_Ü ò {d_m H§$nZr gmJar àdmgmVrb ............... Mr O~m~Xmar KoVo.
[AS>MUt, n`m©daU, OmoIr_]

vii) {då`m_Ü ò ............... hñVm§V[aV hmoVo.
[aŠH$_, OmoIr_, VmoQ>m]

~) MyH$ AWdm ~amo~a {bhm. [7]

i) EH$ OhmO {då`m_Ü ò gd© OhmOm§Mm {d_m CVa{dVmV.

ii) gwajm CnH$aUm§Mr {Z`_rV VnmgUr H$aUo _hËËdmMo Amho.

iii) A½Zr {då`m_Ü ò H$moUrhr ZwH$gmZrMo _yë` H$mQy> eH$Vo.

3 P.T.O.
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iv) ^maVmV Am ẁ{d©å`mgmR>r \$º$ EH$M gaH$mar g§ñWm H$m ©̀aV Amho.

v) gmYmaU {då`mMo ZwVUrH$aU H$aVm òVo.

vi) g_wh {d_m hm EH$ ì`º$s KoVmo.

vii) OrdZ {d_m hm bKw _wXVrMm AgVmo.

àíZ àíZ àíZ àíZ àíZ 2) {då`mMr g§H$ënZm ñnï> H$am Am{U {då`mMo _hËd gm§Jm. [14]

àíZ àíZ àíZ àíZ àíZ 3) OrdZ {då`mMr g§H$ënZm Am{U VÎdo ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 4) A½Zr {då`mMr ì`m»`m Xçm A½Zr {d_mnÌmMo àH$ma ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 5) gmJar {då`mMm AW© Am{U d¡{eï>ço gm§Jm. [14]

àíZ àíZ àíZ àíZ àíZ 6) OrdZ {då`mMo ñdê$n Am[U _hÎd {deX H$am. [14]

àíZ àíZ àíZ àíZ àíZ 7) {då`mMr ì`már Am[U {d_m joÌmVrb amoOJma g§Yr ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 8) Q>rnm {bhm (H$moUË`mhr XmoZ) [14]

A) {_l {d_mnÌ.

~) A½Zr{då`mMr d¡{eï>ço.

H$) ZOrH$Mo H$maU VÎd.

S>) ñ_aUnÌ n[aÀN>oX.


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Q1) A) Fill in the blanks (any Seven) [7]

i) Those goods are easily identifiable by quality are known as
__________ goods.

(General, Specific, Consumable)

ii) A market is a place where __________ comes together to exchange
their goods and services.

(Sellers and customers, Customers and customers, Sellers and
manufactures)

iii) Providing a higher standard of living to the society is called ________

(Production, Employment, Marketing)

iv) The __________ division takes into cosideration the international,
national, divisional, regional and geographical structure.

(Geographical, Demographics, Social)

v) Product, price, place and promotion are the four ps of __________

(Price-mix, Marketing-mix, Product-mix)

vi) Personality is considered in the classification according to
___________

(Population, Standard of living, Society)

SEAT No. :

P.T.O.
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vii) _________ is a sensitive element of the pricing factor.

(Manufacturer, Retailer, Customer)

viii) The stages of product life becomes the ________ of the product.

(Product life cycle, Manufacturing life cycle, Marketing life cycle)

ix) A decision or action taken to increase sales/turnover is called
_________.

(Product promotion, Increase in price, Sales promotion)

B) True or False (Any seven) [7]

i) There is telemarketing to protect the environment.

ii) The consumer market depends upon the proportion of population.

iii) Indian market is the consumers market.

iv) Market segmentation is the division of the total market into different
groups on the basis of specific characteristics.

v)  The bases of market segmentation are highly rigid.

vi) There is no need to survey and test of potential markets in the process
of market segmentation.

vii) Line of goods are group of goods or objects that are related to each
other for various resons.

viii) The success of an organisation in the market is mainly related to the
value of its product.

ix) Sales promotion is an attempt/efforts made to increase sales.

Q2) What is Marketing? Explain the importance of marketing. [14]

Q3) State  the importance of transport and explain the types of transport. [14]

Q4) What is Market segmentation? Explain the bases of market segmentation.[14]
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Q5) What is marketing mix? Explain the elements of marketing-mix. [14]

Q6) What is Price-mix? Explain the factors affecting price-mix. [14]

Q7) State the importance of sales promotion and explain the elements of sales
promotion. [14]

Q8) Write Notes (Any Two) [14]

a) Types of warehouses.

b) Importance of Marketing-mix

c) Key elements of product management.

d) Types of distribution channels.


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àíZ 1) A)A)A)A)A) [aH$må¶m OmJm ^am. (H$m oUVohr gmV)[aH$må¶m OmJm ^am. (H$m oUVohr gmV)[aH$må¶m OmJm ^am. (H$m oUVohr gmV)[aH$må¶m OmJm ^am. (H$m oUVohr gmV)[aH$må¶m OmJm ^am. (H$m oUVohr gmV) [7]

i) JwUd¡{eï>¶m§Zr ghO AmoiIVm ¶oUmè¶m dñVy§Zm .......... àH$maÀ¶m dñVy Ago åhUVmV.

(gd©gmYmaU, {d{eï>, J«mhH$mon¶moJr)

ii) ~mOmanoR> åhUOo Aer OmJm H$s, Á¶m{R>H$mUr .......... dñVy qH$dm godoÀ¶m
{d{Z‘¶mgmR>r EH${ÌV ¶oVmV.

({dH«o$Vo d J«mhH$, J«mhH$ d J«mhH$, {dH«o$Vo Am{U CËnmXH$)

iii) g‘mOmbm Cƒ OrdZ‘mZ àXmZ H$aUo åhUOo ........... hmo¶.

(CËnmXZ, amoOJma, {dnUZ)

iv) ........... {d^mJUr H$aVmZm Am§Vaamï´>r¶, amï´>r¶, {d^m{J¶ àmXo{eH$ d ^m¡Jmo{bH$
aMZoMm {dMma Ho$bm OmVmo.

(^m¡Jmo{bH$, bmoH$g§»¶o{df¶H$, gm‘m{OH$)

v) CËnmXZ, qH$‘V, {dVaU ‘mJ© Am{U {dH«$¶d¥Õr ho .................. Mo Mma ps

AmhoV.

(qH$‘V{‘l, {dnUZ{‘l, CËnmXZ{‘l)
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vi) ............... {d^mJUrV ì¶{º$‘ËdmMm {dMma Ho$bm OmVmo.

(bmoH$g§»¶mZygma, amhUr‘mZmZygma, g‘mOmZygma)

vii) ................ hm qH$‘V KQ>H$mVrb g§doXZerb KQ>H$ Amho.

(CËnmXH$, {H$aH$moi ì¶mnmar, J«mhH$)

viii) dñVyÀ¶m OrdZmVrb AdñWm {‘iyZ dñVyMo ................ ~ZVo.

(OrdZMH«$, CËnmXZMH«$, {dH«$¶MH«$)

ix) {d{H«$dmT> hmoÊ¶mgmR>r KoVbobm {ZU©¶ qH$dm Ho$bobr H¥$Vr åhUOo .............. hmo¶.

(CËnmXZd¥Õr, qH$‘Vd¥Õr, {dH«$¶d¥Õr)

~) MyH$ H$s ~amo~a Vo {bhm (H$moUVohr gmV) [7]

i) n¶m©daUmMo ajU H$aÊ¶mgmR>r Q>obr ‘mH}$qQ>J AgVo.

ii) J«mhH$ ~mOmanoR> bmoH$g§»¶oÀ¶m à‘mUmda Adb§~yZ AgVo.

iii) ^maVmMr ~mOmanoR> hr J«mhH$ ~mOmanoR> Amho.

iv) ~mOmanoR> {d^mJUr åhUOo {d{eð> AmYma g‘moa R>odyZ EHy$U ~mOmanoR>oMo {d{dY
JQ>mV {d^mOZ H$aUo hmo¶.

v) ~mOmanoR> {d^mJUrMo AmYma ho VmR>a AgVmV.

vi) ~mOmanoR> {d^mJUr à{H«$¶o‘Ü¶o g§̂ mì¶-~mOmanoR>oMo gd©ojU d MmMUr H$aÊ¶mMr
JaO ZgVo.

vii) dñVyaofm åhUOo {d{^Þ H$maUm§‘yio nañnam§er {ZJS>rV Agboë¶m dñVy§Mm g‘yh hmo¶.

viii) ~mOmanoR>oVrb g§ñWoMo ¶e ho ‘w»¶V: {VÀ¶m CËnmXZmÀ¶m qH$‘Vrer {ZJS>rV AgVo.

ix) {dH«$¶d¥Õr åhUOo {d{H«$V dmT> KS>dyZ AmUÊ¶mgmR>r H$aÊ¶mV Ambobm à¶ËZ hmo¶.

àíZ 2) {dnUZ åhUOo H$m¶? {dnUZmMo ‘hËd ñnï> H$am. [14]

àíZ 3) dmhVwH$sMo ‘hËd gm§JyZ dmhVwH$sMo àH$ma ñnï> H$am. [14]

àíZ 4) ~mOmanoR> {d^mJUr åhUOo H$m¶? ~mOmanoR> {d^mJUrMo AmYma ñnï> H$am. [14]
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àíZ 5) {dnUZ {‘l åhUOo H$m¶? {dnUZ {‘lMo KQ>H$ ñnï> H$am. [14]

àíZ 6) qH$‘V {‘l åhUOo H$m¶? qH$‘V {‘lda n[aUm‘ H$aUmao KQ>H$ ñnï> H$am. [14]

àíZ 7) {dH«$¶d¥ÕrMo ‘hËd gm§JyZ {dH«$¶d¥ÕrMo KQ>H$ ñnï> H$am. [14]

àíZ 8) Q>rnm {bhm. (H$moUË¶mhr XmoZ) [14]

i) JyXm‘mMo àH$ma

ii) {dnUZ {‘lMo ‘hËd

iii) CËnmXZ ì¶dñWmnZmVrb à‘yI KQ>H$

iv) {dVaUmMo àH$ma


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Q1) A) Fill in the blanks (any Seven) [7]

i) United Nations general Assembly adopted guidelines for consumer
Protection by consensus on__________.

a) 9th April 1985 b) 19th April 1985

c) 29th April 1985

ii) Right to __________ restricts monopolistic tendencies in the
market.

a) Information b) Choose

c) Safety

iii) A National forum can entertain the claims above ` ___________

a) 10 lakhs b) 20 lakhs

c) 1 crore

iv) __________ is regarded as a 'king' in the modern competitive world.

a) Seller b) Consumer

c) Government

v) E-commerce means capability of exchanging _______ electronically.

a) Goods b) Services

c) Value

SEAT No. :
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vi) ____________ works as a president of District consumer dispute
Redressal forum.

a) District Judge b) District collector

c) District Police Superintendent

vii) National commission has minimum _________ members in addition
to the president.

a) Three b) Four

c) Five

viii) Under the consumer Protection Act, 1986 there is a ________ quasi
judicial consumer dispute redressal machinery for solving the
complaints of the consumers.

a) Two-tier b) Three-tier

c) Four-tier

ix) ISP means ____________.

a) Internet speed provider b) Internet service procedure

c) Internet service provider

B) State whether the following statements are True or False (Any seven)[7]
i) The objective of passing the consumer Protection Act is to protect

the sellers.

ii) In India consumer protection Act is not required.

iii) For E-commerce there is a need of internet.

iv) Order issued by state forum on a complaint is final.

v)  Consumer does not have any responsibilities.

vi) In India consumers need to be educated and aware of their rights.

vii) Confidentiality and security of information are not important in e-
commerce.

viii) The government alone is fighting for consumer protection.

ix) E-commerce allows people to carryout businesses without the
barriers of time and distance.
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Q2) Define the term consumerism and explain the evolution of consumerism in
India. [14]

Q3) Explain in detail about the role of Media and Education institute in consumer
education. [14]

Q4) State the composition and functions of 'State consumer Dispute Redressal
commission'. [14]

Q5) Explain the need and objectives of consumer protection. [14]

Q6) What do you mean by consumer education? State the need and importance of
consumer education. [14]

Q7) Explain the concept of E-commerce state its effects on consumers. [14]

Q8) Write short notes (Any Two) [14]

a) Types of consumers.

b) Consumer association

c) Features of consumer Protection Act.

d) Recent emerging issues in E-commerce.





4

Total No. of Questions : 8]

[5801]-115
F.Y. B.Com. (Semester - I)

116(d) CONSUMER PROTECTION AND BUSINESS ETHICS - I
(2019 Pattern) (Credit System)

(_amR>r ê$nm§Va)
doi : 2½ Vmg]                      [EHy$U JwU : 70
gyMZm :- 1) àíZ H«$. 1 d 8 gmoS>{dUo Amdí¶H$ Amho.

2) àíZ H«$. 2 Vo 7 ¶mn¡H$s H$moUVohr 3 àíZ gmoS>dm.
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àíZ 1) A)A)A)A)A) [aH$må¶m OmJm ^am. (H$m oUVohr gmV)[aH$må¶m OmJm ^am. (H$m oUVohr gmV)[aH$må¶m OmJm ^am. (H$m oUVohr gmV)[aH$må¶m OmJm ^am. (H$m oUVohr gmV)[aH$må¶m OmJm ^am. (H$m oUVohr gmV) [7]

i) g§¶wº$ amï´>mÀ¶m gd©gmYmaU g ôZo {X. ............. amoOr J«mhH$ g§ajUmMr ‘mJ©Xe©H$
VËdo pñdH$mabr.

A) 9 E{àb 1985 ~) 19 E{àb 1985

H$) 29 E{àb 1985

ii) J«mhH$m§Mm .............. h¸$ ~mOmanoR>oVrb ‘ºo$Xmar Wm§~dy eH$Vmo.

A) ‘m{hVrMm ~) {ZdS>rMm

H$) gwa{jVVoMm

iii) amï´>r¶ ‘§M ` ................... darb VH«$mar hmVmiy eH$Vmo.

A) 10 bmI ~) drg bmI

H$) EH$ H$moQ>r

iv)  AmYw{ZH$ ñnYm©Ë‘H$ OJmV ............ bm "amOm' Ago g§~moYVmV.

A) {dH«o$Vm ~) J«mhH$

H$) gaH$ma
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v) B©-H$m°‘g© åhUOoM Bbo³Q´>m°{Z³g gmYZm§À¶m AmYmao ............. {d{Z‘¶mMr j‘Vm
hmo¶.

A) dñVy ~) godm

H$) ‘yë¶

vi) {Oëhm J«mhH$ VH«$ma {ZdmaU Am¶moJ Mo AÜ¶j ............... AgVmV.

A) {Oëhm Ý¶m¶m{Ye ~) {Oëhm{YH$mar

H$) {Oëhm nmo{bg A{YjH$

vii) amï´>r¶ Am¶moJm‘Ü¶o AÜ¶jmì¶{V[aº$ H$‘rV H$‘r ................ g^mgX AgVmV.

A) VrZ ~) Mma

H$) nmM

viii) J«mhH$m§À¶m VH«$mar gmoS>{dÊ¶mgmR>r J«mhH$ g§ajU H$m¶XçmA§VJ©V (1986) ñWmnZ
Pmbobr H$m¶Xoera J«mhH$ VH«$ma {ZdmaU ¶§ÌUm ................ H$m‘ H$aVoo.

A) XmoZ nmVi¶m§da ~) VrZ nmVi¶m§da

H$) Mma nmVi¶m§da

ix) Am¶. Eg. nr. (ISP) åhUOo.

A) B§Q>aZoQ> ñnrS> àmoìhm¶S>a [Internet speed Provider]
~) B§Q>aZoQ> gpìh©g àmo{gOa [Internet service Procedure]
H$) B§Q>aZoQ> gpìh©g àmoìhm¶S>a [Internet service Provider]

~) nwT>rb {dYmZo MyH$ qH$dm ~amo~a Vo gm§Jm (H$moUVohr gmV) [7]
i) J«mhH$ g§ajU H$m¶XçmMo CpX²Xï> ho {dH«o$Ë¶mMo g§ajU H$aUo ho Amho.

ii) ^maVm‘Ü¶o J«mhH$ g§ajU H$m¶X²¶mMr JaO Zmhr.

iii) B©-H$m°‘g©gmR>r B§Q>aZoQ>Mr Amdí¶H$Vm Amho.

iv) J«mhH$m§À¶m VH«$marda amÁ¶ ‘§MmZo {Xbobm {ZU©¶ hm A§{V‘ AgVmo.

v) J«mhH$mbm H$moUË¶mM O~m~Xmè¶m ZgVmV.

vi) ^maVmV J«mhH$m§Zm Ë¶m§À¶m h¸$m~m~V {e{jV d OmJ¥V H$aUo JaOoMo Amho.

vii) B©-H$m°‘g©‘Ü¶o JmonZr¶Vm Am{U ‘m{hVrMr gwajm ‘hËdmMr ZgVo.

viii) J«mhH$ g§ajUmgmR>r ’$º$ emgH$s¶ nmVirdaM à¶ËZ hmoVmV.

ix) B©-H$m°‘g©‘wio bmoH$m§Zm doi Am{U A§VamÀ¶m AS>Wi¶m§{edm¶ ì¶dgm¶ H$aÊ¶mg
nadmZJr {‘iVo.
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àíZ 2) J«mhH$dmX hr g§km gm§JyZ ^maVmVrb J«mhH$dmXmMr CËH«$m§Vr ñnï> H$am. [14]

àíZ 3) J«mhH$ {ejUmV "àgma‘mÜ¶‘o' Am{U "e¡j{UH$ g§ñWm§Mr' ŵ{‘H$m g{dñVa ñnï> H$am. [14]

àíZ 4) amÁ¶ J«mhH$ VH«$ma {ZdmaU Am¶moJmMr aMZm d H$m¶©nX²YVr gm§Jm. [14]

àíZ 5) J«mhH$ g§ajUmMr JaO Am{U CX²Xrï>¶o ñnï> H$am. [14]

àíZ 6) J«mhH$ {ejU åhUOo H$m¶? J«mhH$ {ejUmMr JaO d ‘hËd ñnï> H$am. [14]

àíZ 7) B©-H$m°‘g© g§H$ënZm ñnï> H$am Am{U Ë¶mMo J«mhH$m§da hmoUmao n[aUm‘ gm§Jm. [14]

àíZ 8) Q>rnm {bhm. (H$moUË¶mhr XmoZ) [14]

i) J«mhH$m§Mo àH$ma

ii) J«mhH$ g§KQ>Zm

iii) J«mhH$ g§ajU H$m¶XçmMr d¡{eï²>¶o

iv) B©-H$m°‘g©‘Yrb CX¶moÝ‘wI ‘wX²Xo


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Q1) A. Fill in the blanks with suitable options given below (Any Seven) : [7]
i) _________ and environment are closely related to each other.

a) Business
b) Politics
c) Society

ii) The natural environment includes ________ and ecological factors
that influences the business operations.
a) Sociological
b) Geographical
c) Physiological

iii) _________ environment may be described as the environment of
society as a whole.
a) Social
b) Cultural
c) Political

iv) Transportation is the backbone of every ________.
a) Economy
b) Politics
c) Society

v) Effects of air pollution are on human _______, plants, acqutic life
and marine life.
a) Health
b) Behaviour
c) Personality

SEAT No. :

P.T.O.
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vi) When unemployment trends to be a long term feature of a country,
it is called _________ unemployment.
a) Chronic
b) Technological
c) Casual

vii) Child labour means a person below the age of ________ years.
a) 14
b) 16
c) 18

viii) An entrepreneur is a person with a _________ need for achievement.
a) High
b) Low
c) Medium

ix) The word entrepreneur is derived from _________ language.
a) French
b) Marathi
c) Greek

B. State whether the following statements are true or false (Any Seven)
[7]

i) The environmental factors influence almost very aspects of business.
ii) When the government imposes high tax rate on profit then it acts a

hindrance in the group.
iii) Advertising is perhaps the area of business most closely in touch

with socio cultural changes.
iv) Pollution is the introduction of contaminants into the natural

environment that causes adverse change.
v) Air pollutants affects plants by entering through stomata, destroy

chlorophyll and affect photosynthesis.
vi) Black money is aggregate of incomes which are taxable but are not

reported to tax authorities.
vii) Health of people of any nation plays important role in the social and

economic development of any country.
viii) The entrepreneur takes initiative accept risk of failure and have internal

locus of control.
ix) Enterprise is the out come of the factors of production.
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Q2) Define the term Business Environment. Describe in detail the aspects of Business
environment. [14]

Q3) a) Explain in detail the causes of air pollution. [7]
b) State the opportunities in environment. [7]

Q4) What is pollution? Describe in detail the remedies of pollution. [14]

Q5) Explain the concept of Unemployment. Describe in detail the causes of
unemployment. [14]

Q6) What is Poverty? Explain causes and remedies of poverty. [14]

Q7) Explain the difference between Entrepreneur and Manager. [14]

Q8) Write short notes (Any two) : [14]
a) Intrapreneur.
b) Black Money.
c) Importance of  Business Environment.
d) Evolution of the term Entrepreneur.


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F. Y. B.Com.

116 (e) : BUSINESS ENVIRONMENT AND
ENTREPRENEURSHIP - I

(2019 Pattern) (CBCS) (Semester - I)
(_amR>r ê$nm§Va)

doi : 2½ Vmg]                      [EHy$U JwU : 70
gyMZm : 1) àíZ H«§$. 1 d àíZ H«$. 8 gmoS>{dUo A{Zdm¶© Amho.

2) àíZ H«§$. 2 Vo àíZ H«§$. 7 n¡H$s H$moUVohr VrZ àíZ gmoS>{dUo.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

P2858

àíZ 1) A)A)A)A)A) Imbrb {Xboë¶m n¶m©¶m‘YyZ ¶mo½¶ n¶m©¶ {ZdSy>Z [aH$må¶m OmJm ^am (H$moUË¶mhr gmV)Imbrb {Xboë¶m n¶m©¶m‘YyZ ¶mo½¶ n¶m©¶ {ZdSy>Z [aH$må¶m OmJm ^am (H$moUË¶mhr gmV)Imbrb {Xboë¶m n¶m©¶m‘YyZ ¶mo½¶ n¶m©¶ {ZdSy>Z [aH$må¶m OmJm ^am (H$moUË¶mhr gmV)Imbrb {Xboë¶m n¶m©¶m‘YyZ ¶mo½¶ n¶m©¶ {ZdSy>Z [aH$må¶m OmJm ^am (H$moUË¶mhr gmV)Imbrb {Xboë¶m n¶m©¶m‘YyZ ¶mo½¶ n¶m©¶ {ZdSy>Z [aH$må¶m OmJm ^am (H$moUË¶mhr gmV)     :::::
[7]

i) ................. Am{U n¶m©daU ¶m§Mm EH$‘oH$m§er OdiMm g§~§Y Amho.
A) ì¶dgm¶
~) amOH$maU
H$) g‘mO

ii) Z¡g{J©H$ dmVmdaUm‘Ü¶o .............. Am{U n¶m©daUr¶ KQ>H$m§Mm g‘mdoe Amho.
Á¶m‘wio ì¶dgm¶mVrb H$m‘m§da n[aUm‘ hmoVmo.
A) g‘mOemór¶
~) ^m¡Jmo{bH$
H$) emar[aH$emó

iii) ................. dmVmdaUmMo g§nyU© g‘mOmMo dmVmdaU åhUyZ dU©Z Ho$bo OmD$
eH$Vo.
A) gm‘m{OH$
~) gm§ñH¥${VH$
H$) amOH$s¶

iv) dmhVyH$ hr àË¶oH$ ............... H$Um AgVmo.
A) AW©ì¶dñWoMm
~) amOH$maUmMm
H$) g‘mOmMm

P.T.O.
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v) dm¶y àXÿfUmMm n[aUm‘ ‘mZdr ................ dZñnVr ObMa Am{U g‘wÐr OrdZmda
hmoVmo.

A) Amamo½¶

~) dmJUyH$

H$) ì¶{º$‘Ëd

vi) ~oamoOJmar ho EImÚm XoemMo XrK©H$mbrZ d¡{eï>o Agob Va Ë¶mbm ...............
~oamoOJmar Ago åhUVmV.

A) Vrd«

~) Vm§{ÌH$

H$) àmg§{JH$

vii) ~mb H$m‘Jma åhUOo ................... dfm© Imbrb ì¶º$s.

A) 14
~) 16
H$) 18

viii) CÚmoOH$ åhUOo Aer ì¶³Vr Orbm H$V¥©ÎdmMr .............. Amdí¶H$Vm AgVo.

A) CÀM

~) H$‘r

H$) ‘Ü¶‘

ix) CÚmoOH$ hm eãX ................ ^mfoVyZ Ambm Amho.

A) ’«o$ÝM

~) ‘amR>r

H$) J«rH$

~)~)~)~)~) Imbrb {dYmZo MyH$ H$s ~amo~a Vo gm§Jm (H$moUVohr gmV) :Imbrb {dYmZo MyH$ H$s ~amo~a Vo gm§Jm (H$moUVohr gmV) :Imbrb {dYmZo MyH$ H$s ~amo~a Vo gm§Jm (H$moUVohr gmV) :Imbrb {dYmZo MyH$ H$s ~amo~a Vo gm§Jm (H$moUVohr gmV) :Imbrb {dYmZo MyH$ H$s ~amo~a Vo gm§Jm (H$moUVohr gmV) : [7]
i) n¶m©daUr¶ KQ>H$ ì¶dgm¶mÀ¶m OdiOdi àË¶oH$ ~m~tda n[aUm‘ H$aVmV.

ii) Ooìhm gaH$ma Z’$çmda CÀM H$a Xa bmXVo Voìhm Vo JQ>mVrb AS>Wio åhUyZ H$m‘
H$aVo.

iii) gm‘m{OH$ gm§ñH¥${VH$ ~Xbm§À¶m g§nH$m©V Om{hamV H$aUo ho ì¶dgm¶mVrb joÌ Amho.

iv) àXÿfU hr Xÿ{fV nXmWm©Mr AmoiI AgyZ Z¡g{J©H$ dmVmdaUmV Vr à{VHy$b ~Xbm§Mo
H$maU R>aVo.
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v) dm¶y àXÿfH$, dZñnVr ñQ>mo‘mQ>m‘Ü¶o àdoe H$ê$Z dZñnVtda n[aUm‘ H$aVmV.
³bmoamo{’$b Zï>> H$aVmV Am{U àH$meg§íbofUmda n[aUm‘ H$aVmV.

vi) H$mù¶m n¡emMr CËnÝZmMr EHy$U a³H$‘ Amho, Or H$anmÌ Amho, na§Vw H$a A{YH$mè¶m§Zm
H$i{dbr OmV Zmhr.

vii) H$moUË¶mhr XoemVrb bmoH$m§Mo Amamo½¶ H$moUË¶mhr XoemÀ¶m gm‘m{OH$ Am{U Am{W©H$
{dH$mgmV ‘hÎdnyU© ŷ{‘H$m ~OmdVo.

viii) CÚmoOH$ nwT>mH$ma KoVmV, An¶emMm YmoH$m ñdrH$maVmV Am{U A§VJ©V {Z¶§ÌUmImbr
AgVmV.

ix) CÚmoJ hm CËnmXZmÀ¶m KQ>H$m§À¶m n[aUm‘ Amho.

àíZ 2) ì¶mdgm{¶H$ n¶m©daU ¶m g§koMr ì¶m»¶m Úm. ì¶mdgm{¶H$ n¶m©daUmÀ¶m ~mOy g{dñVanUo dU©Z
H$am. [14]

àíZ 3) A) hdm àXÿfUmMr H$maUo g{dñVanUo {deX H$am [7]
~) n¶m©daUmVrb g§Yr gm§Jm. [7]

àíZ 4) àXÿfU åhUOo H$m¶? àXÿfUmdarb Cnm¶¶moOZm§Mo g{dñVanUo dU©Z H$am. [14]

àíZ 5) ~oamoOJmarMr g§H$ënZm ñnï> H$am. ~oamoOJmarMr H$maUo g{dñVanUo dU©Z H$am. [14]

àíZ 6) Xm[aÐ¶ åhUOo H$m¶? Xm[aÐ¶mMr H$maUo Am{U Cnm¶¶moOZm {deX H$am. [14]

àíZ 7) CÚmoOH$ Am{U ì¶dñWmnH$ ¶mVrb ’$aH$ {deX H$am. [14]

àíZ 8) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [14]
A) A§VñW: CÚmoOH$.
~) H$mim n¡gm.

H$) ì¶mdgm{¶H$ n¶m©daUmMo ‘hÎd.
S>) CÚmoOH$ ¶m g§H$ënZoMr CËH«$m§Vr.


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Instructions to the candidates:

1) Question No. 1 and Question No. 6 are Compulsory.
2) Solve any Three Questions from Question No.2 to Question No. 5.
3) Figures to the right indicate full marks.

P2859

Q1) A) Fill in the blanks (Any 5) : [5]
i) __________ is not a principle of organisation.

a) Principle of exception b) Principle of balance
c) Principle of complexity d) Principle of co-ordination

ii) Organisation is a process of _________.
a) Identifying and grouping of work to be performed
b) Defining and delegating the responsibility and authority
c) Both ‘a’ and ‘b’
d) None of the above

iii) The minimum members in public limited company are _________.
a) 4 b) 2
c) 8 d) 7

iv) Blockchain consist of _________.
a) Transaction data b) A Hash points
c) A Timestamp d) All of the above

v) First step of Blockchain project implementation is _________.
a) Requirement identification
b) Feasible study on the security
c) Controlling and monitoring the project
d) Screen idea consideration

SEAT No. :

P.T.O.
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vi) _________ is not an external environmental component of a business
organization?
a) Social Environment b) Educational Environment
c) Business Work culture d) Political Environment

B) Match the following : [5]
1) Issued Capital a) 2008
2) Digital Marketing b) 2016
3) Business Service c) Use of Digital Media
4) Atal Innovation Mission d) Intangible in Nature
5) ICCI bank was the first bank e) The capital was offered to

in India to launch mobile the Public to Subscribe
banking in India

Q2) What is Joint Stock Company? State the advantages and disadvantages of
Joint Stock Companies. [15]

Q3) Define the term ‘Block Chain’. Explain in detail the types of Block Chain. [15]

Q4) What is the New Industrial Policy 1991? Explain objectives and main features
of New Industrial Policy 1991. [15]

Q5) Explain the main recommendations of Malhotra Committee. [15]

Q6) Write short notes (Any 3) : [15]
a) Importance of organization.
b) Pradhan Mantri Kaushal Vikas Yojana (PMKVY)
c) Advantages of digital India
d) BPO.
e) Advantages of Non-Government Organizations.


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116 F : FOUNDATION COURSE IN COMMERCE - I
(2019 Pattern) (CBCS) (Semester - I)

(_amR>r ê$nm§Va)
doi : 2½ Vmg]                      [EHy$U JwU : 70
gyMZm : 1) àíZ H«$‘m§H$ 1 Am{U àíZ H«$‘m§H$ 6 A{Zdm¶© AmhoV.

2) àíZ H«$. 2 nmgyZ àíZ H«$. 5 n¶ªV H$moUVohr VrZ àíZ gmoS>dm.
3) COì¶m ~mOyMo A§H$ nyU© JwU Xe©dVmV.

P2859

àíZ 1) A)A)A)A)A) [aH$må¶m OmJm ^am (H$m oUË¶mhr [aH$må¶m OmJm ^am (H$m oUË¶mhr [aH$må¶m OmJm ^am (H$m oUË¶mhr [aH$må¶m OmJm ^am (H$m oUË¶mhr [aH$må¶m OmJm ^am (H$m oUË¶mhr 5))))) [5]
i) ................. ho g§ñWoMo VËd Zmhr.

A) AndmX VËd ~) {eëbH$sMo VËd
H$) O{Q>bVoMo VËd S>) g‘Ýd¶mMo VÎd

ii) g§KQ>Zm hr .................. Mr à{H«$¶m Amho.
A) nma nmS>Ê¶mgmR>r Ho$boë¶m H$m¶m©Mr AmoiI nQ>{dUo Am{U Ë¶m§Mo JQ> H$aUo
~) O~m~Xmar Am{U A{YH$ma n[a^m{fV H$aUo Am{U gmon{dUo.
H$) XmoÝhr "A' Am{U "~'
S>) darbn¡H$s H$mhrhr Zmhr

iii) npãbH$ {b{‘Q>oS> H§$nZrV {H$‘mZ gXñ¶ ............... AmhoV.
A) 4 ~) 2
H$) 8 S>) 7

iv) ãbm°H$MoZ‘Yrb ãbm°H$‘Ü¶o ............... g‘m{dï> Amho.
A) ì¶dhma S>oQ>m ~) h°e nm°BªQ>
H$) EH$ Q>mB‘ñQ>°ån S>) darb gd©

v) ãbm°H$MoZ àH$ën A§‘b~OmdUrMr n{hbr nm¶ar .............. Amho.
A) Amdí¶H$Vm AmoiI
~) gwajoMm e³¶ Aä¶mg
H$) àH$ën {Z¶§{ÌV H$aUo Am{U XoIaoI R>odUo
S>) ñH«$sZ H$ënZm {dMma

P.T.O.
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vi) ............... ì¶dgm¶ g§ñWoMm ~mø n¶m©daU KQ>H$ Zmhr
A) gm‘m{OH$ n¶m©daU ~) e¡j{UH$ n¶m©daU
H$) ì¶dgm¶ H$m¶© g§ñH¥$Vr S>) amOH$s¶ n¶m©daU

~) OmoS>çm bmdm. [5]
1) {d{H«$g H$mT>bobo ^m§S>db A) 2008
2) {S>{OQ>b ‘mH}$qQ>J ~) 2016
3) ì¶dgm¶ godm H$) {S>{OQ>b ‘r{S>¶mMm dmna
4) AQ>b BZmoìhoeZ {‘eZ S>) {ZgJm©V A‘yV©
5) ^maVmV ‘mo~mB©b ~±qH$J ICCI ~±Ho$Zo B) g^mgX hmoÊ¶mgmR>r OZVobm ^m§S>db XoD$

àW‘ gwê$ Ho$br hmoVr Ho$bo hmoVo

àíZ 2) g§¶wº$ ñQ>m°H$ H§$nZr åhUOo H$m¶? g§¶wº$ ñQ>m°H$ H§$nÝ¶m§Mo ’$m¶Xo Am{U VmoQ>o gm§Jm. [15]

àíZ 3) "ãbm°H$ MoZ' ¶m eãXmMr ì¶m»¶m Úm. ãbm°H$MoZMo àH$ma Vnerbdma ñnï> H$am. [15]

àíZ 4) ZdrZ Am¡Úmo{JH$ YmoaU 1991 H$m¶ Amho? ZdrZ Am¡Úmo{JH$ YmoaU 1991 Mr C{Ôï>o Am{U ‘w»¶
d¡{eï²>¶o ñnï> H$am. [15]

àíZ 5) ‘ëhmoÌm g{‘VrÀ¶m ‘w»¶ {e’$magr ñnï> H$am. [15]

àíZ 6) {Q>nm {bhm (H$moUË¶mhr 3) : [15]
A) g§KQ>ZoMo ‘hÎd.
~) àYmZ‘§Ìr H$m¡eb {dH$mg ¶moOZm (PMKVY)
H$) {S>{OQ>b B§{S>¶mMo ’$m¶Xo.
S>) {~{nAmo (BPO).
¶) J¡a-gaH$mar g§ñWm§Mo ’$m¶Xo.


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Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
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Q1) Attempt any THREE out of FIVE : [15]
a) Comment on the term ‘Mimic Warfare’ in relation with Orwell’s ‘The

Sporting Spirit’.
b) How, according to Orwell, can sports be a political vehicle of carrying

agenda of nationalism?
c) How does the poet criticize the Materialistic attitude of the people in

‘The World is Too Much with Us’?
d) Explain ‘The World is Too Much with Us’ as a nature poem.
e) How does William Wordsworth express his grief over the loss of nature?

Q2) Attempt any THREE out of FIVE : [15]
a) How does Robert Benchley refute professor Bouvier’s remarks regarding

reasoning power of insects?
b) Which incident does Benchley describe to explain the intelligence of

insects?
c) How does Robert Benchley differ from professor Bouvier?
d) What predictions does the fortune teller make about Saib’s future?
e) Comment on the humour in the poem ‘The Fortune Teller’.

SEAT No. :

P.T.O.
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Q3) Attempt any TWO out of FOUR : [20]
a) How does J.C. Hill illustrate the significance of good manners?
b) Which qualities, according to J.C. Hill, do humans need to have to be

good humans?
c) What, according to J.C. Hill, are the rules of speaking?
d) What kind of future does Tagore desire for India?

Q4) Attempt any FOUR out of SIX : [20]
a) Comment on the narrator’s experiences in the bank stated in ‘My Financial

Career’.
b) How does the narrator’s behaviour produce humour in ‘My Financial

Career’?
c) How does Walt Whitman reflect on his inactivity over the sorrows of the

world?
d) Write a critical appreciation of the poem ‘I sit and Look out’.
e) How does Whitman reflect on the oppression in the world and the resultant

plight of the people?
f) Describe the narrator’s encounter with the bank manager in ‘My Financial

Career’.





àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUË`mhr EH$m {df`m§da 300 eãXm§V {Z~§Y {bhm. [15]

A) H$moamoZm AmYrMo Am{U Z§VaMo OU

~) nmD$g _ZmVbm (b{bV)

H$) dm{UÁ` emIoVrb ì`dgm`mÀ`m g§Yr

S>) àgma _mÜ`_m§Mr gm_m{OH$ ~m§{YbH$s

àíZ àíZ àíZ àíZ àíZ 2) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao 50 eãXm§n ª̀V {bhm. [15]

A) eoVH$ar dJm©Mr pñWVr gwYmaÊ`mgmR>r g`mOramd Jm`H$dmS> `m§Zr H$moUVo à`ËZ Ho$bo?

~) amOoe _§S>mbmoH$ `m§Zr à{Vð>oÀ`m g§X^m©V _m§S>bobo {dMma ñnï> H$am.

H$) eaX Omoer `m§Zm Agbobo V§ÌkmZmMo ^mZ ñnï> H$am.

S>) Z¡Zmbmb {H$X~B© `m§Mm ZmoH$arH$arVm C_oXdmX {ZdS>ì`m ~m~VMm Ñ{ï>H$moZ ñnï> H$am.

Total No. of Questions : 4]

[Total No. of Pages : 2

[5801]-119
F.Y. B.Com.

MARATHI (_amR>r)
^mfm, gm{hË` Am{U H$m¡eë` {dH$mg (117B)

(2019 Pattern) (CBCS) (Semester - I)

doi : 2½ Vmg     ] [EHy$U JwU : 70
Aä`mgH«$_ : 1) {Z~§YboIZ - d¡Mm[aH$, b{bV, dm{UÁ` {df`H$ {Z~§Y.

2) nmR>çnwñVH$ : CËH$f©dmQ>m
(g§nmXH$ = S>m°. {earf bm§S>Jo, S>m°. VwH$mam_ am|JQ>o, S>m°. amO|Ð gm§Jio)

gyMZm … 1) gd© àíZ gmoS>{dUo Amdí`H$ AmhoV.
2) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.

P2861

SEAT No. :

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao 150 eãXm§n ª̀V {bhm. [20]

A) {ddoH$ gmd§V `m§Zr ImOJr joÌmMr H$moUVr JwU - d¡{eî ò gm§{JVbr AmhoV?

~) amhr~mB© nmonoao `m§À`m Am ẁî`mbm H$moUË`m KQ>Zo_wio H$bmQ>Ur {_imbr?

H$) "{df_wŠVeoVr' `m{df`r hZw_§Vamd Jm`H$dmS> `m§Mo {dMma d H$m ©̀ ñnï> H$am.

S>) {Z{b_m {_lm `m§Mr "AmXe© Jmd' hr g§H$ënZm ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUË`mhr EH$m àíZm§Mo CÎma 300 eãXm§n ª̀V {bhm. [20]

A) S>m°. ~m~mgmho~ Am§~oS>H$a `m§À`m nÌH$m[aVm {df`H$ boIZmMm AmT>mdm ¿`m.

~) ho_m§Jr Om§̂ oH$a `m§À`m Jm§Sy>i eoVr{df`r g{dñVa _m{hVr {bhm.





àíZ àíZ àíZ àíZ àíZ 1) {ZåZ{b{IV _| go {H$Ýht Xmo àíZm| Ho$ CÎma g§jon _| {b{IE & [16]

i) "ñdXoe Ho$ à{V' H${dVm Ho$ _mÜ`_ go H$d{`Ìr Zo Š`m g§Xoe {X`m h¢?

ii) "hmo JB© h¡ n[a nd©V  - gr {nKbZr Mm{hE' H${dVm _| A{^ì`ŠV H«$m§{V H$s ^mdZm H$mo
{b{IE &

iii) "no‹S> H$s nwH$ma' H${dVm _| no‹S> H$s _Zwî` go Š`m AnojmE± h¢?

iv) "CXmg Vw_' H${dVm _| {M{ÌV gm¢X ©̀ dU©Z H$mo AnZo eãXm| _| {b{IE &

àíZ àíZ àíZ àíZ àíZ 2) {ZåZ{b{IV _| go {H$Ýht Xmo àíZm| Ho$ CÎma g§jon _| {b{IE & [16]

i) "^mobmam_ H$m Ord' H$hmZr _| {M{ÌV ì §̀½` H$mo ñnï> H$s{OE &

ii) "CgZo H$hm Wm' H$hmZr Ho$ bhZmqgh H$s Mm[a{ÌH$ {deofVmE± {b{IE &

iii) "g~go H${R>Z H$m_' H$hmZr _| bo{IH$m Zo Š`m g§Xoe {X`m h¡?

iv) "ì`Wm H$m gaJ_' H$hmZr H$s H$WmdñVw na àH$me S>m{bE &

àíZ àíZ àíZ àíZ àíZ 3) A) {ZåZ{b{IV _| go {H$gr EH$ AdVaU H$s gg§X ©̂ ì`m»`m H$s{OE & [7]

i) ""{g\©$ h§Jm_m IS>m H$aZm _oam _H$gX Zht

_oar H$mo{ee h¡ {H$ ò gyaV ~XbZr Mm{hE &''

Total No. of Questions : 5]

[Total No. of Pages : 2

[5801]-120
F.Y. B.Com. (Semester - I)
qhXrqhXrqhXrqhXrqhXr - I (HINDI) (Optional)

nmR²>` nwñVH$ : gm{hË` gm¡a^ : g§nm. àmo. S>m°. gXmZ§X ^mogbonmR²>` nwñVH$ : gm{hË` gm¡a^ : g§nm. àmo. S>m°. gXmZ§X ^mogbonmR²>` nwñVH$ : gm{hË` gm¡a^ : g§nm. àmo. S>m°. gXmZ§X ^mogbonmR²>` nwñVH$ : gm{hË` gm¡a^ : g§nm. àmo. S>m°. gXmZ§X ^mogbonmR²>` nwñVH$ : gm{hË` gm¡a^ : g§nm. àmo. S>m°. gXmZ§X ^mogbo
(2019 Pattern) (CBCS) (117C)

g_` : 2½ K§Q>o ] [nyUmªH$ : 70
gyMZmE± : 1) g^r àíZ A{Zdm ©̀ h¡ &

2) Xm{hZr Amoa {bIo A§H$ àíZ Ho$ nyUmªH$ h¢ &

P2862

SEAT No. :

P.T.O.
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ii) ""n¡a Zht h¢

Am¡a Z hr dh AmX_r

Omo CÝh| Cg H$moZo _| aIH$a

MwnMmn Mbm J`m

{H$gr Am¡a M~wVao na ~¡R>H$a

AmJo H$s `mÌm V` H$aZo Ho$ {bE &''

Am) {ZåZ{b{IV _| go {H$gr EH$ AdVaU H$s gg§X ©̂ ì`m»`m H$s{OE & [7]

i) ""AmO Voam Jwé hr Voam V»Vm h¡ & Bgr na Vra Mbm &''

ii) ""AmR> Zht Xg bmI & EH$ - EH$ AH$m{b`m {gI gdm bmI Ho$ ~am~a hmoVm h¡ & Mbo
OmAmo &''

àíZ àíZ àíZ àíZ àíZ 4) {ZåZ{b{IV _| go {H$Ýht Xmo àíZm| Ho$ CÎma g§jon _| {b{IE & [14]

i) ỳ{ZH$moS> Š`m h¡?

ii) B§Q>aZoQ> H$m gm_mÝ` n[aM` Xr{OE &

iii) H¥${VXod Am¡a ỳ{ZH$moS> Ho$ ~rM ê$nm§VaU H$s à{H«$`m g_PmBE &

iv) qhXr gm°âQ>dò a H$m g§jon _| n[aM` Xr{OE &

àíZ àíZ àíZ àíZ àíZ 5) {ZåZ{b{IV _| go {H$Ýht Xg A§H$ VWm J{UVr` {Mh²Zm| H$mo XodZmJar _| {b{IE & [10]

i) 5 ii) 27

iii) 39 iv) 51

v) 67 vi) 79

vii) 86 viii) 99

ix) + x) 

xi) # xii) ( )





Total No. of Questions : 5]

[Total No. of Pages : 2

[5801]-121

F.Y. B.Com. (Semester - I)

GUJARATI
(2019 Pattern) (Regular) 117-D

Time : 3 Hours]        [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P2863

P.T.O.

SEAT No. :

â.â.â.â.â.1. (A) l¡sygnu âñp¡_p S>hpb gMp¡. (L$p¡C`Z `p„Q) [10]

(1) Q„ÖL$pÞs bnu _u Qpf _hgL$\p gMp¡.

(2) fp.rh `pW$L$_y„ ỳfy„ _pd gMp¡. s¡d_p ÓZ D`_pd gMp¡.

(3) „̀qX$seyN_p L$p¡C`Z Qpf rhh¡QL$p¡_p _pd gMp¡.

(4) NyS>fpsu kprlÐe_p Qpf âdyM lpõeL$pfp¡_p _pd gMp¡.

(5) Np„̂ ueyN_p b¡ _hgL$\pL$pfp¡ _p _pd gMu s¡d_u A¡L$-A¡L$ _hgL$\p_y„ _pd gMp¡.

(6) Th¡fQ„v$ d¡OpZu_p L$pìek„N°l eyNh„v$_p _p L$p¡C`Z Qpf L$pìe_p rij®L$_p _pd gMp¡.

(7) NyS>fpsu kprlÐe_u b¡ lpõe _hgL$\p_p _pd gMp¡.

(8) `Þ_pgpg `V¡$g_p¡ S>Þd L$ep„ A_¡ ¼epf¡ \ep¡ lsp¡?

(b) 50 iåv$p¡dp„ âñp¡_p S>hpb gMp¡. (L$p¡C`Z b¡) [10]

(1) frhi„L$f dlpfpS> `p¡sp_¡ L$p¡_u V$p¡mu_p¡ blpfhqV$ep¡ NZph¡ R>¡?

(2) S>mL$dm R>p„X$u Å f¡ bpmp L$pìe_p¡ k„rnádp„ `qfQe L$fphp¡.

(3) h¥óZhS>_ L$pìe_p¡ V|„$L$dp„ `qfQe Ap`p¡.

(4) L$rh _ftkl dl¡sp_y„ Æh_.
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â.â.â.â.â.2. (A) krhõspf S>hpb gMp¡. (L$p¡C`Z A¡L$) [10]

(1) cuMp_y„ `pÓpg¡M_ L$fp¡.

(2) frhi„L$f dlpfpS>¡ lpS>fu L¡$hu fus¡ L$du L$fphu kdÅhp¡.

(b) krhõspf S>hpb gMp¡. (L$p¡C`Z A¡L$) [10]

(1) NyS>fpsu kprlÐe_p âdyM `ÛâL$pfp¡ kdÅhp¡.

(2) dÝeL$pgu_ NyS>fpsu kprlÐe_p¡ ̀ qfQe A_¡ kdeNpmp¡.

â.â.â.â.â.3. (A) V|„$L$_p¢̂  gMp¡. (L$p¡C`Z A¡L$) [5]

(1) Adgv$pf_u tlds

(2) Th¡fQ„v$ d¡OpZu_y„ Æh_ A_¡ L$h_

(b) V|„$L$_p¢̂  gMp¡. (L$p¡C`Z A¡L$) [5]

(1) L$lp_yX$p¡ iy„ ÅZ¡ dpfu `uX$p? L$pìedp„ hZ®h¡gu dufp„bpC_u `uX$p hZ®hp¡.

(2) h¥óZhS>_ L$pìe_p¡ cphp\® kdÅhp¡.

â.â.â.â.â.4. L$p¡C`Z A¡L$ rhje `f r_b„̂  gMp¡. [10]

(1) dpfp õhà__y„ cpfs

(2) `qfîd A¡S> `pfkdrZ

(3) dps©â¡d

(4) b„̂  L$fp¡ Ap Ap„v$p¡g_p¡......

â.â.â.â.â.5. (A) `Óg¡M_ [5]

sdpfu kp¡kpeV$u_u `pk¡ MX$L$pe¡gp L$Qfp_p Y$Ngp v|$f L$fhp dpV¡$ çeyr_rk`g L$p¡̀ p£ f¡i__p
çeyr_rk`g L$rdi_f_¡ AfÆ gMp¡.

(b) Al¡hpg g¡M_ [5]

sdpfu L$p¡g¡S>dp„ ep¡Åe¡gp h©npfp¡̀ Z kápl_u DS>hZu_p¡ Al¡hpg s¥epf L$fp¡.





gwdmbgwdmbgwdmbgwdmbgwdmb     I) A) ho{R>`{Z _| ˜mb ^[a`mo Ho$ {~ 5 : [5]

[{Za‹S>, emaOmh, {àVr, _méB©, _|qh, eodH$am_]

i) _______ E| {Xár Z§T>onU Or ỳ gmhoS>r ỳ§ hþ̀ y§.

ii) _______ {hH$ gwR>mo eodH$am_ hmo.

iii) _______ _bra JšmoR> Or hþB©.

iv) añVo Oo {dM _| _mVmar _______ doR>r hþB©.

v) JmodY©Z e_m© _______ EAanmoQ>© Vo bWmo.

vi) Hw$Q> Oo H$Q>moao Omo {ZemZ JmoYr Oo _______ Vo hþ̀ mo.

B) Omo‹S>m {_bm`mo : [5]

i) Xog gw¼

ii) dm{O~w _m\$s

iii) gµOm J¡adm{µO~w

iv) XmoñV naXog

v) Xþ:I Xþí_Z

Total No. of Questions : 6]

[Total No. of Pages : 2

[5801]-122
F.Y. B.A./B.Com. (Semester - I)

SINDHI - Term I (117E)
(2019 PatternE)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) Q. No. 1 and Q. No. 6 are compulsory.
2) Solve any 3 (three) questions from the following Question nos 2, 3, 4 and 5.
3) Figures to right indicate full marks.

P2864

SEAT No. :

P.T.O.
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gwdmbgwdmbgwdmbgwdmbgwdmb     II) ""CW OmJš, OmoJšr !'' H${dVm OarE XmXm OeZ dmgdmUr à ŵA ¼o nmBU Or H${h‹S>r àoaUm {S>šZr
Amho. [15]

gwdmbgwdmbgwdmbgwdmbgwdmb     III) _mê$B©A Oo ~mao _| OšmU {bImo : [15]

gwdmb gwdmb gwdmb gwdmb gwdmb IV) B©ídar OmoVdmUrA __Vm Omo ZµOmamo H$sA§ {S>šR>mo? [15]

gwdmb gwdmb gwdmb gwdmb gwdmb V) {àVrA Or _mQ>obr _mC {àVrA gm§ H${h‹S>mo ì`dhma H§$Xr hþB©? [15]

gwdmbgwdmbgwdmbgwdmbgwdmb     VI) ho{R>`{Z _m§ H§$qh {~ {Q>{Z Vo Wmo‹S>o _| {bImo :- [15]

i) hmobr

ii) MoQ>r M§Sw>

iii) _mC Omo ß`mê$

iv) _moa

v) ~agmVr _m¡g_





[5801]-123
F.Y.B.Com (Semester-I)

117F: Persian Gen (Paper - I)

  (2019 Pattern)

P-2865

Total No. of Questions : 5

[Time : 2½ HoursTotal Marks : 70]

P.T.O.

 Instructions to candidates :
Attempt all the questions.

Q.1) Give the definition of the following: (any7) [14]

 

 


Q.2) Write a short note on any three of the following : [12]


Q.3) Write the summery of any one of the following Poems [10]


Q.4) Write a note on Life and Literary works of the following Poets

 (any two) [14]

 
Q.5) A) Explain any seven of the following couplets: [14]

 
 







 
  

SEAT No.

Total No. of Pages : 2



  
 







 
 
  
 









 

 
       

 
B) Translate the following passage into your language : [6]

In their formative years, kids minds are highly active. They

learn quite easily and quickly. During this phase, they become

aware of so many things about their environment, people

family, friends, plants, animals, processes in nature, so on and

so forth. It is not easy for kids to accumulate everything at one

go. That's why they need to practice writing short English

essays at home as well. As a parent you are the one who needs

to assists your kid in learning at home.


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[5801]-124
F.Y.B.Com.

URDU
Additional Urdu

(CBCS 2019 Pattern) (Semester - I)

Time : 3 Hours] [Max. Marks : 70

  


[10]  




[10]  




[10]  




P.T.O.

P2866

Total No. of Questions : 6

[Total No. of Pages :3

SEAT No. :



[5]    
 
 
 

[5]  
 
 

[5]   
  

[5]  
1) Stock Market

2) Promotion

3) Profit

4) Deficit

5) Agreement

6) Advance

7) Agent

8) Purchase

[10]  
 
 

 

[5801]-124 2



[10]  

  

  

  

  

 


 

  

  












 



 

  

[5801]-124 3



Total No. of Questions : 6]

[5801]-125
F.Y.B.Com.

117 H : FRENCH - I
(2019 Pattern) (Semester - I)

P2867 [Total No. of Pages : 4

SEAT No. :

P.T.O.

Time : 2½ Hours] [Max. Marks : 70
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Total No. of Questions : 6]

[5801]-126
F.Y.B.Com.

GB - 1 - GERMAN GENERAL - 1 : BASIC COURSE
(2019 Pattern) (Semester - I) (1171)

P2868 [Total No. of Pages : 8

SEAT No. :

P.T.O.

Time : 2½ Hours] [Max. Marks : 70
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Total No. of Questions : 6]

[5801]-126
F.Y.B.Com.

GB - 1 : GERMAN GENERAL - 1 : BASIC COURSE
(2019 Pattern) (Semester - I) (1171)

P2868

Time : 2½ Hours] [Max. Marks : 70
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Total No. of Questions : 4]

[5801]-127
F. Y. B.Com.

117 - J : SANSKRIT - I
(2019 Credit Pattern) (Semester - I)

Time : 2½ Hours] [Max. Marks : 70

P2869

à.à.à.à.à.1) a) Translate in to Marathi or English. (1 out of 2) [5]

‘amR>r qH$dm B§J«OrV ^mfm§Va H$am. (2 n¡H$s 1)
i) Am¶wf‘Z², CX²Km{VZr ^y{‘[a{V ‘¶m apí‘g§¶‘ZmÐWñ¶ ‘ÝXrH¥$Vmo doJ:&  VoZ ‘¥J Ef

{dàH¥$fmÝVa:  g§d¥Îm:& g§à{V g‘Xoed{V©ZñVo Z XþamgXmo ^{dî¶{V&
ii) "^Jd{V! Ed§ H$[an¶m{‘& ¶mdÎd§ ZmñdmX¶{g àW‘§ Z¥naº§$ VmdÝ‘¶m XodJwê$H¥$V: enW:

ñ¶mV², ¶{X VXmñdmX¶m{‘'& Ed§ V¶mo: nañna§ dXVmo: g amOm VÀN>¶Z‘mgmX²¶ àgwá:&
b) Translate in to Marathi or English. (1 out of 2) [5]

‘amR>r qH$dm B§J«OrV ^mfm§Va H$am. (2 n¡H$s 1)
i) à{VnÞ§ {ñÌ¶m Xo¶§ nË¶m dm gh ¶ËH¥$V‘²&

ñd¶§H¥$V§ dm ¶ÑU§ ZmÝ¶ËñÌr XmVw‘h©{V&&
ii) ¶Xm{^‘Ý¶w§ ~Üdmo ¶wÕo O¿Zw‘©hmaWm:&

n[adm¶© aUo ~mb§ ¹$ Vo Y‘©ñVam JV:&&
c) Write the true or false. (5 out of 5) [5]

MyH$ qH$dm ~amo~a Vo {bhm. (5 n¡H$s 5)
i) e~ar ‘mZg gamodamH${U {Zdmg H$arV hmoVr.
ii) Xþî¶§V amOm H$Êdm§À¶m Aml‘mV àdoe H$aVmo.
iii) "JmU{Z³¶m{YH$ma:' hm H$m¡{Q>ë¶ AW©emñÌmMm ^mJ Amho.
iv) n§MV§ÌmMm aM{¶Vm Zmam¶U n§{S>V Amho.
v) "¶yH$m' eãXmMm AW© "T>oHy$U' Agm hmoVmo. 

à.à.à.à.à.2) a) Explain with refference to the context. (1 out of 2) [5]

gg§X^© ñnï> H$am (2 n¡H$s 1)
i) ‘mgmXÿÜdª ‘mgm{X²deVmoÎma§ XÊS>§ XX²¶mV²&
ii) {dZrVdofoU àdoï>ì¶m{Z VnmodZm{Z Zm‘&

b) Explain with refference to the context. (1 out of 2) [5]
gg§X^© ñnï> H$am (2 n¡H$s 1)
i) ‘¶m Vw {d{dY§ dÝ¶§ g§{MV§ nwê$ff©̂ &
ii) Z {d‘w#mpÝV eñÌm{U eyam gmYwd«Vo pñWVm:&

[Total No. of Pages : 2
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c) Answer in one sentence. (5 out of 6) [5]
EH$m dm³¶mV CÎmao {bhm. (6 n¡H$s 5)
i) "e~¶m©: am‘Xe©Z‘²' nmR>mMo ‘yiñÌmoV H$moUVo?
ii) H$m{bXmgmÀ¶m VrZ aMZm§Mr Zmdo gm§Jm.
iii) H$~§Y H$moUmMm nwÌ hmoVm?
iv) VnmodZmV H$emàH$mao àdoe H$amdm?
v) ‘hm^maVmMo aMZmH$ma H$moU AmhoV?
vi) "F$UmXmZ‘²' nmR> Hw$Ry>Z KoÊ¶mV Ambm Amho?

à.à.à.à.à.3) a) Write a detailed answer. (1 out of 2) [12]
g{dñVa CÎma {bhm. (2 n¡H$s 1)
i) Write a summary of the lesson ‘Punyashramadarshanena altmanam

punimahe’.
"nwÊ¶ml‘Xe©ZoZ AmË‘mZ§ nwZr‘ho' nmR>mMm gmam§e {bhm.

ii) Write a summary of the lesson ‘Gananikyadhikarah’
"JmU{Z³¶m{YH$ma: nmR>mMm gmam§e {bhm.

b) Write a short note. (1 out of 2) [8]
Q>rn {bhm. (2 n¡H$s 1)
i) The king Dushyanta

Xþî¶ÝV amOm
ii) Mandavisarpini

‘ÝX{dg{n©Ur

à.à.à.à.à.4) a) Write a detailed answer. (1 out of 2) [12]
g{dñVa CÎma {bhm. (2 n¡H$s 1)
i) Write a summary of the lesson ‘Kva te Dharmastada Gatah’.

"³d Vo Y‘©ñVXm JV:' nmR>mMm gmam§e {bhm.
ii) Write a summary of the lesson ‘Runadanam’

"F$UmXmZ‘²' nmR>mMm gmam§e {bhm.
b) Write a short note. (1 out of 2) [8]

Q>rn {bhm. (2 n¡H$s 1)
i) Yadnyavalkya Rushi

¶mkdë³¶F$fr
ii) Hospitality of Shabari

e~arMr Am{VÏ¶erbVm


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Instructions to the candidates:
 1) Attempt all questions.

2) Figures to the right side indicate full marks.

Q1) Translate into Arabic any Ten of the following sentences. [20]

1) The chair is comfortable.

2) This school is good.

3) That car is beautiful.

4) The teacher is busy.

5) There is a student in the class.

6) In the fridge there is an apple.

7) On the window there is a curtain.

8) There is a newspaper on the table.

9) His office is far from his home.

10) She is busy in her office.

11) Is your school closed?

12) No, his college is closed.

13) My father is working in his room.

P.T.O.
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Q2) Translate into English any Ten of the following sentences. [20]

 
 
 
 
 
 
 
 
 
 
 
 
 

Q3) Explain with examples any Two of the following Topics: [16]

 
 
 
 

Q4) Write in Arabic any Two of the following Terminologics: [14]

 
 
 
 
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Q1) a) Fill in the blanks: [5]

i) ________ number of Vedas in Hinduism.

ii) Unemployment observed in villages is known as _________
unemployment.

iii) Full form of OBC is __________.

iv) Indian Economy accepted liberlisation, privatisation and ________.

v) NITI Ayog was established in the year __________.

b) Select the proper option from the options given below and rewrite the
sentences: [5]

i) The Twenty point programme was launched by ________.

(Indira Gandhi, Mahatma Gandhi, Jawaharlal Nehru)

ii) _______ was the major cause of unemployment.

(Education, Skill, Population)

iii) UPSC stands for __________.

(Union Public Service Commission, United Public Service
Commission, United People State Commission)

iv) ________ is the commercial crop in India.

(Jute, Rice, Both Jute and Rice)

v) Black Revolution is concerned with ________.

(Oil seeds, Crude oil, Coal)

P.T.O.
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c) State whether the following statements are True or False: [10]

i) CA is a professional course.

ii) Man is by nature a social animal.

iii) Joint family system is the feature of Indian Society.

iv) Poverty is the cause of poverty.

v) Poverty line is the level of income to meet the maximum living
conditions.

vi) The word ‘Religion’ is derived from Latin word ‘Religare’.

vii) Economic inequality is an obstacle to Economic Development.

viii) India is the World’s largest milk producer country.

ix) Reserve Bank of India was established in 1949.

x) Full form of SC is special caste.

Q2) Describe the advantages and disadvantages of government jobs. [10]

Q3) Explain the features of caste system in India. [10]

Q4) State the meaning of religion. Explain the importance of religion in Indian
Society. [10]

Q5) Describe the characteristics of Indian economy. [10]

Q6) Write short notes (Any 4): [20]

a) Globalization.

b) MPSC.

c) Rural Unemployment.

d) National integration.

e) Career guidance.

f) Liberation Movement.


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(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) àíZ H«$_m§H$ 1 d àíZ H«$_m§H$ 6 gmoS>{dUo Amdí`H$ Amho.
2) àíZ H«$_m§H$ 2 Vo àíZ H«$_m§H$ 5 _Yrb H$moUVohr VrZ àíZ gmoS>dmdo.
3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

P2871

à.à.à.à.à.1) A) [aH$må`m OmJm ^am. [5]

i) qhXÿ Y_m©V .......... doX AmhoV.

ii) J«m_rU ^mJmV AmT>iUmè`m ~oamoOJmarbm ............ ~oamoOJmar åhUVmV.

iii) ............ ho Amo.~r.gr. Mo nyU© ê$n Amho.

iv) ^maVr` AW©ì`dñWoZo CXmarH$aU, ImOJrH$aU Am{U .............. Mm pñdH$ma Ho$bm.

v) ZrVr Am`moJmMr ñWmnZm .............. ̀ m dfu Pmbr.

~) {Xboë`m n`m©̀ m§n¡H$s `mo½` n`m©̀  {ZdSy>Z Imbrb {dYmZo nwÝhm {bhm. [5]

i) drg H$b_r H$m ©̀H«$_ ........... Ûmao gwê$ H$aÊ`mV Ambm.

(B§{Xam Jm§Yr, _hmË_m Jm§Yr, Odmhabmb Zohê$)

ii) ~oamoOJmarMo à_wI H$maU ........... hmoVo.

({ejU, H$m¡eë`, bmoH$g§»`m)

iii) UPSC Mm AW© .............

(g§K bmoH$godm Am`moJ, g§̀ wº$ bmoH$godm Am`moJ, ẁZm`Q>oS> nrnb²g ñQ>oQ> H${_eZ)

iv) .............. ho ^maVmVrb ì`mdgm{`H$ nrH$ Amho.

(VmJ, Vm§Xÿi, VmJ d Vm§Xÿi XmoÝhrhr)

v) H$mir H«$m§Vr .............. er g§~§{YV Amho.

(Vob{~`m, H$ƒo Vob, H$moigm)
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H$) Imbrb {dYmZo MyH$ H$s ~amo~a Vo gm§Jm. [10]

i) gr.E. (CA) hm ì`mdgm{`H$ Aä`mgH«$_ Amho.
ii) _mUyg ñd^mdV… EH$ gm_m{OH$ àmUr Amho.
iii) g§̀ wº$ Hw$Qw>§~nÕV ho ^maVr` g§ñH¥$VrMo d¡{eîQ>ço Amho.
iv) Xm[aÐ ho Xm[aÐçmMo H$maU Amho.
v) Xm[aÐçaofm åhUOo H$_mb amhUr_mZmMr nmVir JmR>Ê`mgmR>r Amdí`H$ CËnÞmMr nmVir

hmò .
vi) Religion hm eãX Religare `m _yi b°{Q>Z eãXmdê$Z Ambm Amho.
vii) Am{W©H$ {df_Vm Am{W©H$ {dH$mgmVrb AS>Wim Amho.
viii) ^maV hm OJmVrb gdm©V _moR>m XÿY CËnmXH$ Xoe Amho.
ix) [aPìh© ~±H$ Am°\$ B§{S>`mMr ñWmnZm 1949 øm dfu Pmbr.
x) Eg.gr. Mo nyU© ê$n ñnoeb H$mñQ> Amho.

à.à.à.à.à.2) gaH$mar ZmoH$arMo \$m`Xo Am{U VmoQ>o gm§Jm. [10]

à.à.à.à.à.3) ^maVr` OmVr ì`dñWoMr d¡{eîQ>ço ñnï> H$am. [10]

à.à.à.à.à.4) Y_m©Mm AW© gm§Jm. ^maVr` g_mOmVrb Y_m©Mo _hÎd {deX H$am. [10]

à.à.à.à.à.5) ^maVr` AW©ì`dñWoMr d¡{eîQ>ço gm§Jm. [10]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË`mhr Mma) [20]

A) OmJ{VH$sH$aU
~) MPSC

H$) J«m_rU ~oamoOJmar
S>) amï´>r` EH$mË_Vm
B) H$[aAa _mJ©Xe©Z
\$) _wº$s Midi





Q1) Define computer? Explain block diagram of computer.

Q2) Explain use and functionality of Barcode Reader and Dot matrix printer.

Q3) Explain any 5 uses computer in day to day life.

Q4) What is the difference between RAM and ROM?

Q5) Explain steps to use Mail merge.

Q6) What is Paint brush? Explain uses of Paint brush.

Q7) Convert the following :

a) Convert (576)8 Octal number into its equivalent Hexadecimal number.

b) Convert (A2)16 Hexadecimal number into its equivalent Binary number.


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Q1) a) Fill in the blanks (Attempt any 5 out of 6). [5]

i) Communication is incomplete without a _________.

a) Medium b) Signs and gestures

c) Feedback d) Words

ii) Emotions are among the most common ________ to
communication.

a) language barrier b) Psychological barrier

c) Mechanical barrier d) Physical barrier

iii) Marketing and advertising are ________.

a) Same b) Different

c) Interrelated d) Business

iv) _________ decodes the message

a) Receiver b) Sender

c) Both of them d) None of the above

v) The sender must keep his communication simple and easy to
________.

a) Remember b) Deliver

c) Understand d) Communicate

Total No. of Questions : 4]

[Total No. of Pages : 2

[5801]-131
F.Y. B.Com. (Vocational)

Advertising, Sales Promotion and Sales Management - I
Marketing Communication (Paper - I)

(2019 Pattern) (Semester - I) (CBCS) (115B)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
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vi) Communication used in office is an example of _______.
a) Formal communication b) Informal communication
c) Body language d) You attitude

b) Match the following : [5]
A B

1) Environmental Barrier a) Evidence
2) E-Marketing b) Traffic Signals
3) Non Verbal Communication c) Sender
4) Encoder d) 24 × 7
5) Written Communication e) Noise

Q2) Short notes (any 2 out of 4) [10]
a) Language Barrier
b) Importance of communication
c) Functions of Marketing
d) Online Marketing

Q3) a) Define Communication. Explain the Process of Communication. [8]
OR

What do you mean by Communication? Explain the importance of
Nonverbal Communication.

b) Discuss the need and importance of Marketing. [7]
OR

Explain the types of communication.

Q4) a) Differentiate between oral and Written Communication. [8]
OR

Differentiate between Formal and Informal Communication.
b) Explain the barriers to Communication. [7]

OR
Explain the importance of E-Marketing.





Total No. of Questions : 4]

[5801]-132
F.Y. B.Com. (Vocational)

TAX PROCEDURE & PRACTICES - I
115 C : Indian Tax System & Income Tax

(CBCS 2019 Pattern)(Semester - I)

Time : 2½ Hours] [Max. Marks : 50

Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.
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Q1 A) Fill in the Blanks (Any Five): [5]

a) Article 246 is based on the principle of _______.

b)   Income Tax Act is applicable to ________.

c)   Income Tax is a _________ tax.

d)   The full form of CBDT is ________.

e)   The finance Act is passed every year by the Parliament in the form of
_______.

f) Every Assessment year is the period of _______ months.

g) Income tax is levied on the ______ of the person.

 B) Match the following [5]

Group - A Group - B

i) Canon of simplicity a) Dyanamic in Nature

ii) Canon of Economy b) Flexible in Nature

iii) Canon of Diversity c) Same distribution

iv) Canon of Equality d) Easy to charge

v) Canon of Elasticity e) Cost of collecting tax

P.T.O.
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Q2) Write short notes (Any 2) [10]

a) Canon of Economy.

b) Canon of Elasticity.

c) Central Board of Direct Tax.

d) Importance of taxation structure in India.

Q3) Answer the following (Any Four) [20]

a) What is tax? What are the different types of Taxes in India?

b) What are the different provisions regarding taxation in schedule seven?

c) Explain the difference between direct tax and indirect tax.

d) What are the different taxes of Central Govt.?

e) Explain the Nature & Scope of Indian tax structure in brief.

f) What are the advantages of indirect tax?

Q4) Answer the following question (Any one) [10]

a) Waht are the different advantages & disadvantages of direct taxes in
India?

b) Explain any five canons of taxation in India.





Q1) What is programming language? Explain its need.

Q2) Explain printf( ) and scanf( ) function with syntax and example.

Q3) Explain the following :
a) Identifier
b) Keyword
c) Constant
d) Variable

Q4) Explain with Relational and Conditional operators with example.

Q5) a) Write a C Program to calculate area of Circle.
b) Write a note on Assembly language.

Q6) a) Explain int and float data types used in C.
b) Write a C Program to find cube of a number.

Q7) Explain the following with suitable example :
a) Computer Program
b) Algorithm


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Q1) A) Fill in the blanks : [5]
a) When social message is communicated to general public it is called

as _____.

i) Image advertising

ii) Financial advertising

iii) Social advertising

iv) Institutional advertising

b) Advertisement of Life Insurance Policy is _____.

i) Regional advertising

ii) Financial advertising

iii) Local advertising

iv) Service advertising

P.T.O.
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c) Multinational companies advertise their products globally, is called
_____ advertising.

i) National

ii) Regional

iii) Local

iv) Global

d) Direct mail advertising sends messages through

i) Audio

ii) Video

iii) Mail

iv) Newspaper

e) Advertising adds _____ utility to the product.

i) Time

ii) Place

iii) Form

iv) Perception

B) Match the following : [5]
A B

i) To inform, to persuade a) Publicity

ii) Advertisement of ice-cream b) Type of advertising

iii) It is non-paid form c) Type of appeals

of advertising

iv) Global advertising d) Functions of advertisement

v) Emotional appeal e) Consumer advertisement
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Q2) Short Notes (Any 2) : [10]

a) Limitations of advertising.

b) Emotional appeals.

c) Advantages of advertising to society.

d) Scope of advertising.

Q3) a) Define the term ‘advertising’ & explain functions of advertising. [8]
OR

Explain nature & elements of advertising.

b) Explain advantages of advertising to customers. [7]
OR

Explain advantages of advertising to manufacturers.

Q4) a) Write a detail note on ‘Commercial advertising’. [8]
OR

Write different types of advertisements.

b) Write a detail note on “Rational appeals”. [7]
OR

What do you mean appeals in advertising, explain with suitable examples.


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Q1) A) Fill in the blanks: [5]

a) Constitution Amendment Act, 2016 for GST was _________.

i) 80th ii) 101th

iii) 122nd iv) 118th

b) Under GST, ‘value addition’ refers to ________.

i) Expenses plus profit ii) Cost plus tax

iii) Cost plus tax plus profit iv) Tax plus profit

c) Tax rate on goods under GST are determined by _______.

i) Union Budget

ii) State Budget

iii) GST Council

iv) Central Govt. in consultation with State Govt.

d) The charging section of CGST is _______.

i) Section 9 ii) Section 10

iii) Section 4 iv) Section 2

e) SGST or UTGST shall not be utilised towards payment of ______.

i) CGST ii) SGST

iii) IGST iv) UTGST

P.T.O.
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B) State whether the following statements are True or False. [5]
i) The Incidence of tax on tax is called as tax cascading.
ii) Integrated Goods and Services Tax is applicable when there is

interstate supply.
iii) A composite taxpayer is required to file summarised details of

transactions half yearly.
iv) A registered person shall, on receipt of advance payment for goods

or services, issue GST bill.
v) GSTR-9 is also called as annual return.

Q2) Write short notes (Any Two) [10]
a) Rates of GST
b) Need and advantages of registration
c) Structure of GST Council.

Q3) What do you mean by Goods and Services Tax? Explain the advantages of
Goods and Services Tax in detail. [15]

Q4) Define the following Terms and Concepts: [15]
a) Continuous supply of goods
b) Fixed establishment
c) Input tax
d) Local authority
e) Location of the recipient of services

Q5) Explain the types of GST registration and documents required for GST
registration. [15]




	5801-101 (P-2843)
	5801-102 (P-2844)
	5801-103 P-2845
	5801-104 (P-2846)
	5801-105 (P-2847)
	5801-106 (P-2848)
	5801-107 (P-2849)
	5801-108 (P-2850)
	5801-109 P-2851
	5801-110 P-2852
	5801-111 P-2853
	5801-112 P-2854
	5801-113 P-2855
	5801-114 P-2856
	5801-115 (P-2857)
	5801-116 (P-2858)
	5801-117 (P-2859)
	5801-118 P-2860
	5801-119 P-2861
	5801-120 P-2862
	5801-121 (P-2863)
	5801-122 P-2864
	5801-123-P2865
	5801-124 P-2866
	5801-125 (P-2867)
	5801-126 (P-2868)
	5801-127 (P-2869)
	5801-128 P-2870
	5801-129 (P-2871)
	5801-130 P-2872
	5801-131 P-4015
	5801-132 (P-6473)
	5801-133 P-2873
	5801-134 (P-2874)
	5801-135 (P-2875)

